

Kansas Register

Vol. 39, No. 43

October 22, 2020

Pages 1319-1346

 **BILL SNYDER FAMILY STADIUM** 

WBC PREMIUM
SEATHOLDER
ENTRY

EXPRESS GATE
NO BAGS

K-STATE

In this issue ...

Page

Legislative Branch

Legislative Administrative Services

Interim committee schedule1321

Rates

Pooled Money Investment Board

Notice of investment rates1321

Notices

Wichita State University

Notice of intent to lease land and/or building space1321

Board of Regents Universities

Notice to bidders1322

Kansas Department of Administration – Office of Procurement and Contracts

Notice to bidders for state purchases1322

North Central Regional Planning Commission

Notice to bidders for thermal imagers1323

Notice to bidders for search and rescue trailer1323

Kansas Department of Revenue – Division of Vehicles

Notice of intent to establish a new line-make for an existing new motor vehicle dealer1323

Kansas Department of Revenue – Division of Property Valuation

Appraisal Directive No. 20-051, uniform standards of professional appraisal practice1323

Kansas Department of Agriculture – Division of Conservation

Notice to contractors for Pawnee Watershed Joint District No. 81 spillway replacement project1325

Kansas Department of Health and Environment

Notice concerning proposed air quality class I operating permit renewal1325

Notice concerning water pollution control permits and applications1326

Kansas Department of Transportation

Notice to contractors1327

Notice to consulting firms for design services1328

Notice to consulting firms for rehabilitation and shoulder widening projects1329

Request for comments on STIP amendment1331

Kansas Water Authority

Notice of meeting1332

Executive Branch

Office of the Governor

Executive Directive No. 20-525, authorizing personnel transactions1332

Executive Directive No. 20-526, authorizing expenditure of federal funds1332

Bonds

Kansas Development Finance Authority

Notice of hearing on proposed agricultural development revenue bonds1332

Regulations

Kansas Lottery

Temporary administrative regulations1333

Index to administrative regulations1341

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. Periodicals postage paid at Topeka, Kansas.

POSTMASTER: Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2020. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/publications/pubs_kansas_register.asp.

Register Office:
1st Floor, Memorial Hall
785-368-8095
Fax 785-296-8577
kansasregister@ks.gov



Published by
Scott Schwab
Secretary of State
1st Floor, Memorial Hall
120 SW 10th Ave.
Topeka, KS 66612-1594
785-296-4564
www.sos.ks.gov

Cover Artwork: Bill Snyder Family Stadium, Manhattan
Photo by Todd Caywood

State of Kansas

Legislative Administrative Services

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

Date	Room	Time	Committee	Agenda
Oct. 19	548-S	9:30 a.m.	Senate Confirmation Oversight	Consideration of appointments.
Oct. 20	Remote Mtg	12:00 p.m.	Race and the Criminal Justice System Subcommittee of the Kansas Criminal Justice Reform Commission	Discussion of draft report; Possible discussion of Topeka's Co-Responder Program.
Oct. 20	112-N	9:00 a.m.	Special Committee on Foster Care Oversight	Law enforcement perspective on the foster care/child in need of care (CINC) system; Judicial perspective on entry into the foster care/CINC system and improved outcomes for children; Impact of substance use in foster care; Child welfare/CINC-related continuing education for judges; Toxicology testing in CINC cases; Licensure of foster parents; A day in the life of a foster parent; A day in the life of a practice model; Acceleration of adoption process and improving outcomes; Title IV-E funding; Department for Children and Families response to September Committee requests; Approval of September 22-23 minutes.
Oct. 21	112-N	9:00 a.m.	Special Committee on Foster Care Oversight	Overview of 2020 HB 2744; It Takes A Village program; Youth with high needs; Prevention strategies to divert children from foster care; Kin support; Education and foster care; Closing comments from Department for Children and Families; Discussion and recommendations for Committee's report to the 2021 Legislature.
Oct. 30	112-N	9:00 a.m.	Special Committee on Kansas Mental Health Modernization and Reform	TBD

Tom Day, Director
Legislative Administrative Services

Doc. No. 048555

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 10-19-20 through 10-25-20

Term	Rate
1-89 days	0.09%
3 months	0.11%
6 months	0.11%
12 months	0.13%
18 months	0.13%
2 years	0.14%

Scott Miller
Director of Investments

Doc. No. 048544

State of Kansas

Wichita State University

Notice of Intent to Lease Land and/or Building Space

Beginning Publication Date: Vol. 39, No. 43, October 22, 2020
Ending Publication Date: Vol. 40, No. 4, January 28, 2021

Public notice is hereby given that Wichita State University intends to lease available land and building space located on WSU's main campus, WSU's Innovation Campus and on property owned by WSU adjacent to the main campus on 17th and Hillside streets. The university will consider leasing such property and/or space to those whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, or otherwise provide supporting services and amenities to the campus community. Such projects could

(continued)

include, but not be limited to: (1) development of a partnership building to provide office and/or laboratory space to support education and research, advance innovation, foster microenterprises, and/or lease to industry partnerships in any market that aligns with University programs; (2) child care facilities; (3) adult living and retirement facilities; (4) restaurants; (5) retail, grocery, or pharmacy establishments; (6) financial institutions; (7) event and/or performance center; and (8) parking garage. Because tenant development and/or use must be a good fit with the university's educational mission and available space, please be prepared to provide the following information: (1) name; (2) square footage of space needs and desired lease term and location; (3) equipment, design, or other special needs; (4) description of anticipated use; and (5) the anticipated benefits to the university, its students and the WSU community (e.g. applied learning, joint research, faculty start-up, etc.). Additional information such as renderings, architectural and design plans, project timeline, and subcontractor list is encouraged. The university will consider serious proposals and inquiries from any financially qualified individual, group, organization, or company. If interested, please contact Wichita State University Property Manager Crystal Stegeman at crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman
 University Property Manager
 Office of the Vice President for
 Administration and Finance
 Wichita State University

Doc. No. 047620

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids, or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: <https://www.emporia.edu/about-emporia-state-university/business-office/purchasing/>. Additional contact info: phone: 620-341-5134, fax: 620-341-6770, email: purchaseorders@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Circle, Emporia, KS 66801.

Fort Hays State University – Electronic bid postings: <http://www.fhsu.edu/purchasing/bids/>. Additional contact info: phone: 785- 628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: <https://www.k-state.edu/purchasing/rfq>. Due to Covid-19, Kansas State University will not be accepting paper bids until further notice. Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506. Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu.

Pittsburg State University – Bid postings: <https://www.pittstate.edu/office/purchasing/>. Additional contact info: phone: 620-235-4169, email: bstefanoni@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762.

University of Kansas – Electronic bid postings: <http://www.procurement.ku.edu/>. Due to Covid-19, the University of Kansas will not be accepting paper bids until further notice. KU Purchasing Services, 1246 W. Campus Road, Room 30, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center – Bid postings: <http://www.kumc.edu/finance/purchasing/bid-opportunities.html>. Additional contact info: phone: 913-588-1117. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: <http://www.wichita.edu/purchasing>. Additional contact info: phone: 316-978-3080, fax: 316-978-3528, email: purchasing.office@wichita.edu. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

Debbie Redeker
 Chair of Regents Purchasing Group
 Purchasing Director
 Emporia State University

Doc. No. 048393

State of Kansas

Department of Administration
Office of Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Director of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

11/03/2020	EVT0007666	Generator Replacement – KDOC Oswego
11/03/2020	EVT0007668	Relace HVAC Units at Lansing Administration Building
11/05/2020	EVT0007660	Various Aggregate
11/05/2020	EVT0007661	Various Aggregate
11/05/2020	EVT0007662	Canvas Tent
11/09/2020	EVT0007664	Agricultural Services – Hay – Eisenhower State Park
11/16/2020	EVT0007644	Security System
11/16/2020	EVT0007652	Web Gear Leather and Accessories
11/16/2020	EVT0007659	Mass Media Safe Driving Campaign

11/19/2020	EVT0007669	Various Aggregates
11/23/2020	EVT0007563	Electronic Monitoring and GPS Services
11/23/2020	EVT0007663	Sports Marketing
12/01/2020	EVT0007670	Food Supply

The above referenced bid documents can be downloaded at the following website:

<http://admin.ks.gov/offices/procurement-and-contracts/bid-solicitations>

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

<http://admin.ks.gov/offices/procurement-and-contracts/additional-files-for-bid-solicitations>

11/12/2020	A-014161	Fort Hays State University; Tomanek Hall EPDM Roof Replacement
------------	----------	--

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or <http://admin.ks.gov/offices/ofpm/dcc>.

Richard "Beattie, Director
Office of Procurement and Contracts

Doc. No. 048557

(Published in the Kansas Register October 22, 2020.)

North Central Regional Planning Commission

Notice to Bidders

Request for bids for thermal imagers will be accepted by the North Central Regional Planning Commission (NCRPC) until 10:00 a.m. (CST) Friday, November 6, 2020, at 109 N. Mill St., Beloit, KS 67420, at which time they will be publicly opened and read aloud at the same address. Copies of the request for bid and project specifications can be accessed by going to <http://procurement.ncrpc.org/HS/projects.html> or by contacting the NCRPC at 785-738-2218 or hlscoordinator@ncrpc.org. This action is being taken on behalf of the Southwest Kansas Regional Homeland Security Council. Estimated project value exceeds \$25,000.

Lisa Peters
Homeland Security Coordinator
Assistant Executive Director

Doc. No. 048545

(Published in the Kansas Register October 22, 2020.)

North Central Regional Planning Commission

Notice to Bidders

Request for bid for a search and rescue trailer will be accepted by the North Central Regional Planning Commission (NCRPC) until 10:00 a.m. (CST) Friday, November 6, 2020, at 109 N. Mill St., Beloit, KS 67420, at which time they will be publicly opened and read aloud at the same address. Copies of the request for bid and project specifications can be accessed by going to <http://procurement.ncrpc.org/HS/projects.html> or by contacting the NCRPC at 785-738-2218 or hlscoordinator@ncrpc.org. This action is being taken on behalf of the Southeast Kansas Regional Homeland Security Council. Estimated project value exceeds \$25,000.

ncrpc.org/HS/projects.html or by contacting the NCRPC at 785-738-2218 or hlscoordinator@ncrpc.org. This action is being taken on behalf of the Southeast Kansas Regional Homeland Security Council. Estimated project value exceeds \$25,000.

Lisa Peters
Homeland Security Coordinator
Assistant Executive Director

Doc. No. 048551

State of Kansas

Department of Revenue Division of Vehicles

Notice of Intent to Establish a New Line-Make for an Existing New Motor Vehicle Dealer

Notice has been received from Reed Hyundai, LLC of their intent of selling Genesis line-make franchised vehicles from the location of 7050 W. Frontage Rd., Merriam, KS 66203.

Pursuant to K.S.A. 8-2430(a)(5), any existing new motor vehicle dealer may protest the proposed addition of the new franchise of Genesis line-make franchised vehicles if that existing new motor vehicle dealer has a franchise agreement for the same line-make vehicle as that which is to be sold or offer for sale by Reed Hyundai, LLC at 7050 W. Frontage Rd., Merriam, KS 66203, and provided that the existing new motor vehicle dealer is physically located such that its relevant market area, as defined in K.S.A. 8-2430(e) includes the location where the new Genesis line-make franchised dealership will be located.

Pursuant to K.S.A. 8-2430(a), any petition or complaint by any dealer with standing to protest must be filed with the Director of Vehicles within thirty (30) days of this notice. Such petitions or complaints must be directed to the following address:

Kansas Department of Revenue
Director of Vehicles
Zibell Building
PO Box 2505
Topeka, KS 66611

Mark A. Burghart
Secretary

Doc. No. 048546

State of Kansas

Department of Revenue Division of Property Valuation

Directive # 20-051

Uniform Standards of Professional Appraisal Practice

This directive is adopted pursuant to the provisions of K.S.A. 79-505(a) and shall take effect and be in force from and after the Director's approval date.

For the 2021 and 2022 valuation years, the county or district appraiser shall perform all appraisal functions in conformity with *Uniform Standards of Professional Appraisal Practice* (USPAP), 2020-2021 Edition, the Appraisal Standards Board of The Appraisal Foundation, as *(continued)*

required by K.S.A. 79-505(a)(1) and as further defined herein.

USPAP Standard 5 shall be followed in developing a mass appraisal for ad valorem taxation purposes. USPAP Standard 6 shall be followed in reporting a mass appraisal for ad valorem taxation purposes. Standards 5 and 6 may also be adhered to in revaluing individual properties that initially have been appraised through mass appraisal methods and techniques, but whose value estimates are reexamined and reconsidered as a result of the hearing and appeals processes. Supporting documentation must be developed and reported for all model component overrides and adjustments.

USPAP Standard 1 shall be followed in developing a "single real property appraisal" and USPAP Standard 2 shall be followed in reporting the results of a single real property appraisal. Most properties in Kansas can be valued through the Orion computer assisted mass appraisal (CAMA) system; however, some parcels in Kansas do not lend themselves to mass appraisal methods and techniques. If a parcel cannot be credibly appraised with a mass appraisal model (see Standards Rule 5), USPAP Standards 1 and 2 would apply.

USPAP Standards 3 and 4 shall be followed in developing and reporting an appraisal review. An appraisal review is the process of developing an opinion about the quality of an appraiser's work that was completed as part of an appraisal or appraisal review assignment. It is the responsibility of the county and district appraiser to analyze all relevant property appraisals provided by a property owner during the appeals process. A comparison of descriptive data, including subject property characteristics and comparable property information between the mass appraisal and single property appraisal report, and explanation of the findings, does not constitute a Standard 3 review.

A county or district appraiser will be required to report the assignment results for a single property that was appraised as part of a mass appraisal assignment. USPAP Advisory Opinion 32 advises there may be many mass appraisal models used to value a universe of properties, and while a property record may describe the valuation of a specific property, to understand the individual property result valued through mass appraisal requires an examination of all information required in Standards Rule 6-2. The second sentence of the PREAMBLE states: It is essential that appraisers develop and communicate their analyses, opinions, and conclusions to intended users of their services in a manner that is meaningful and not misleading. Additionally, the ETHICS RULE states an appraiser must not communicate assignment results with the intent to mislead or defraud, and that an appraiser must not use or communicate a report that is known by the appraiser to be misleading or fraudulent. If a Kansas county or district appraiser communicates mass appraisal results for a single property, USPAP requires the communication to be meaningful and must not be misleading.

The workfile for the mass appraisal assignment shall contain the information and analyses to support the valuation models developed for all properties in the jurisdiction and provide an understanding of individual

property valuation results. Substantial documentation and justification shall be provided for model adjustments and overrides made to individual parcels.

Appraisals developed for ad valorem taxation in Kansas must comply with Kansas law, and regulations promulgated by the director of property valuation. Most of these requirements do not preclude compliance with any part of USPAP, but some place specific requirements on the scope of work. The director of property valuation has identified the following assignment elements that are necessary in Kansas to properly identify the ad valorem appraisal problem and develop credible assignment results:

- The purpose of ad valorem taxation is to finance the taxing districts in Kansas (see K.S.A. 79-1468, K.S.A. 79-1801, K.S.A. 79-1803, and K.S.A. 79-1806). County or district appraisers are required to develop the appraisal estimates that become the assessments used by the taxing districts (see K.S.A. 79-5a27, K.S.A. 12-5250, K.S.A. 12-1775, K.S.A. 79-1409, K.S.A. 79-1411a and K.S.A. 79-1411b). Therefore, county commissioners serve as the client and the taxing districts are the intended users of the appraisal. This scope of work compliance requirement applies to Standards Rule 1-2(a), 2-2(a)(i), 3-2(a), 4-2(a), 5-2(a) or 6-2(a), as applicable. The definition of intended user has a specific meaning in USPAP. Parties who receive a copy of the appraisal as a consequence of disclosure requirements do not become intended users of the report. (USPAP Advisory Opinion 36). Taxpayers and property owners are not intended users of the appraisal prepared for ad valorem taxation in Kansas unless specifically stated as such in the appraiser's Scope of Work document.
- The definition of fair market value for ad valorem appraisals in Kansas is found in K.S.A. 79-503a. This scope of work compliance requirement applies to Standards Rule, 1-2(c), 2-2(b)(v), 3-2(c), 5-2(c) or 6-2(e), as applicable.
- The effective appraisal date for all property in Kansas is January 1, as required by K.S.A. 79-1455. This scope of work compliance requirement applies to Standards Rule 1-2(d), 2-2(vi), 3-2(d)(ii), 4-2(d), 5-2(d), 6-2(d), as applicable.
- A minimum standardized set of physical property characteristics has been determined relevant and necessary for the effective and efficient mass appraisal of real property in Kansas, as required by K.S.A. 79-1477. This scope of work compliance requirement applies to Standards Rule 5-2(e) and 6-2(i).

Kansas laws and regulations which prevent compliance with a part of USPAP may require the appraiser to invoke The USPAP JURISDICTIONAL EXCEPTION RULE. Only the part of USPAP negated by law or regulation becomes void. Law includes constitutions, legislative and court-mandated law, and administrative rules and ordinances. Regulations include rules or orders having legal force, issued by an administrative agency, such as appraisal directives issued by the director. Instructions from a client do not establish a jurisdictional exception. Following are jurisdictional exceptions for ad

valorem appraisal assignments which must be disclosed if invoked by the appraiser (USPAP FAQ 106):

- Land devoted to agricultural use in Kansas shall be appraised at both market value and use value as required by K.S.A. 79-1476. The market value appraisal of agricultural land shall follow USPAP rules. However, the prescribed methods used to develop use values are a statutory requirement. Use value appraisal estimates shall be utilized for ad valorem taxation of agricultural land. The requirement to value agricultural land by use value for assessment purposes is a jurisdictional exception.
- Kansas statutes require the following subclasses of tangible personal property to be appraised at fair market value: manufactured homes, oil and gas interest, material and equipment used in operating oil and gas wells, tax roll motor vehicles (with a 24M tag), trailers (non-business use), commercial and industrial machinery and equipment no longer being used in the production of income, and other personal property not elsewhere classified (such as aircraft, hot air balloons, golf carts, snowmobiles, watercraft and boat trailers). The county or district appraiser may choose from one of two options to develop and report the appraisal of such property:
 - The appraisal methodologies developed and adopted by the Division of Property Valuation and published in appraisal guides shall be followed by the county appraiser. (see K.S.A. 79-1412a *sixth*, K.S.A. 79-1412(b), K.S.A. 79-1456.
 - County or district appraisers may deviate from the guides on an individual property. Single property appraisals shall be developed by following USPAP Standard 7 and reported under requirements of USPAP Standard 8 (see K.S.A. 79-1456(b).
- The valuation of non-exempt commercial and industrial machinery and equipment (class 2, subclass 5) and certain motor vehicles is prescribed by statute (K.S.A. 79-5105a and amendments thereto). These valuation methods are based upon a mathematical formula and the director of property valuation invokes a jurisdictional exception to USPAP.

Approved October 15, 2020.

David N. Harper, Director
Division of Property Valuation

Doc. No. 048556

State of Kansas

**Department of Agriculture
Divisions of Conservation**

Notice to Contractors

Sealed bids for the primary spillway replacement at Floodwater Detention Dam 7-12 in Finney County, will be received by Pawnee Watershed Joint District No. 81 until 7:00 p.m. November 16, 2020, at PO Box 367, 20476 SE US-283 Hwy., Jetmore, KS 67854, at which time and place bids will be publicly opened and read aloud.

Description of Work

Primary Spillway Replacement includes excavating to remove existing primary spillway and installing new a primary spillway consisting of 60inch diameter precast concrete manhole and 30-inch diameter PVC pipe. Estimated quantities include 7,500 cubic yards of excavation, 7,900 cubic yards of earthfill, 193 feet of 30-inch AWWA C905 PVC pipe, 70 cubic yards of flowable fill and appurtenant items.

All work shall be completed in conformance with the project Construction Drawings, Construction Specifications and Stormwater Pollution Prevention Plan.

Work Timing

The work is to commence within twenty (20) calendar days after the Notice to Proceed is issued. Notice to Proceed is anticipated to be issued on January 4, 2021. Completion of the work is desired within 120 days after such notice.

A copy of the invitation to bid, plans, and specifications can be reviewed and/or obtained from Pawnee Watershed Joint District No. 81, PO Box 367, 20476 SE US-283 Hwy., Jetmore, KS 67854, phone 620-357-6420.

A site showing will be conducted by Pawnee Watershed Joint District No. 81 from 1:30 p.m. to 3:00 p.m. November 5, 2020 at the site.

All bids must be accompanied by a certified check, cashier's check, or a bid bond for not less than 5 percent (5%) of the total bid price (including alternates), made payable to Pawnee Watershed Joint District No. 81.

Andrew Lyon
Executive Director

Doc. No. 048547

State of Kansas

Department of Health and Environment

**Notice Concerning Proposed Kansas Air
Quality Class I Operating Permit Renewal**

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. AGC Flat Glass North America, Inc. – Spring Hill Plant has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

AGC Flat Glass North America, Inc. – Spring Hill Plant, 20400 N. Webster, Spring Hill, KS 66083, owns and operates a glass manufacturing plant located at 20400 N. Webster, Spring Hill, KS 66083.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and

(continued)

at the Johnson County Department of Health and Environment, 11811 S. Sunset, Suite 2700, Olathe, KS 66061. To obtain or review the proposed permit and supporting documentation, contact Allan Ddamulira, 785-296-6024, at the central office of the KDHE or Mike Boothe, 913-715-6939, at the Johnson County Department of Health and Environment. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website, <http://www.kdheks.gov/bar/publicnotice.html>.

Please direct written comments or questions regarding the proposed permit to Allan Ddamulira, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, November 23, 2020.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Allan Ddamulira, KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, November 23, 2020 in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Keith Johnson, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Lee A. Norman, M.D.
Secretary

Doc. No. 048550

**State of Kansas
Department of Health and Environment**

**Notice Concerning Kansas/Federal Water
Pollution Control Permits and Applications**

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to

revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-20-221/225

Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
Oatney Farms, Inc. 9516 W. Morgan Ave. Partridge, KS 67566	SE/4 of Section 34 T23S, R07W Reno County	Lower Arkansas River Basin

Kansas Permit No. A-ARRN-B009

The proposed action is to reissue an existing state permit for an existing facility for 300 head (300 animal units) of cattle weighing more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Steven L. and Jessie M. Macke 561 160th Rd. Baileyville, KS 66404	S/2 of Section 23 T02S, R11E Nemaha County	Missouri River Basin

Kansas Permit No. A-MONM-B005

This is a permit renewal for an existing facility for 999 head (999 animal units) of beef cattle weighing greater than 700 pounds. Waste control facilities consist of two sediment basins, a retention control facility and a vegetative buffer.

Name and Address of Applicant	Legal Description	Receiving Water
Simon Beachy 6052 Udall Rd. Chetopa, KS 67336	SE/4 of Section 13 T34S, R20E Labette County	Neosho River Basin

Kansas Permit No. A-NELB-M015

This is a renewal permit for an existing facility for 30 (42 animal units) of mature dairy cows, 5 head (2.5 animal units) of cattle less than 700 pounds; for a total of 44.5 animal units of cattle. An earthen wastewater retention structure captures and controls process wastewater from the milk parlor. There is no change in the permitted animal units from the previous permit. The facility is currently unpopulated.

Name and Address of Applicant	Legal Description	Receiving Water
Wauneta Van Der Veen 404 1st St. Prairie View, KS 67664	SE/4 of Section 11 T02S, R20W Phillips County	Upper Republican River Basin

Kansas Permit No. A-URPL-B007

This is a renewal permit for an existing confined animal feeding facility with a maximum capacity of 75 head (75 animal units) of beef cattle weighing more than 700 pounds. There will be no change in the permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Erbe Hog Farm Mike Erbe 7565 Udall Rd. Altoona, KS 66710	NW/4 of Section 31 T29S, R17E Wilson County	Verdigris River Basin

Kansas Permit No. A-VEWL-S003

The proposed action is to reissue an existing state permit for an existing facility for 800 head (320 animal units) of swine weighing greater than 55 pounds and 300 head (30 animal units) of swine weighing 55 pounds or less, for a total of 1,100 head (350 animal units) of swine. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Public Notice No. KS-Q-20-177

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Kansas Department of Wildlife, Parks and Tourism 3400 Hatchery Dr. Junction City, KS 66441	Republican River	Process Wastewater

Kansas Permit No. I-LR15-PO02
Federal Permit No. KS0083275

Legal Description: NW¼, S21, T11S, R5E, Geary County, Kansas

Facility Name: Milford Fish Hatchery

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is a State fish hatchery where fish are reared for stocking in public and private waters of the State of Kansas. Domestic sewage from three residences, a visitor center, the fish hatchery, wastewater from the starter facilities, and solids flush from the raceways are directed to the 3-cell stabilization lagoon. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, E. coli, and ammonia, as well as monitoring for flow, pH, total phosphorus, and total recoverable copper.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612-1367.

All comments regarding the draft documents or application notices received on or before November 21, 2020, will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-20-221/225, KS-Q-20-177) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the Secretary of Health and Envi-

ronment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, Kansas. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at <http://www.kdheks.gov/feedlots>. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

Lee A. Norman, M.D.
Secretary

Doc. No. 048552

State of Kansas

Department of Transportation

Notice to Contractors

Electronic copies of the letting proposals and plans are available on the Kansas Department of Transportation (KDOT) website at <https://kdotapp.ksdot.org/Proposal/Proposal.aspx>. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Holders List," or to be included on the "Non-Bid Holders List" as a subcontractor/supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid no later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject your bid. The Secretary reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2015 edition of the Kansas Department of Transportation *Standard Specifications for State Road and Bridge Construction*.

KDOT will only accept electronic internet proposals using the Bid Express website at <http://www.bidx.com> until 1:00 p.m. (CST) November 18, 2020. The KDOT bid letting will be conducted remotely by audio broadcast ONLY at 3:00 p.m. (CST) Wednesday, November 18, 2020. To join the conference call dial 866-620-7326 and enter conference code 5895748207. KDOT has tested the process, but in the event of an unforeseen issue, KDOT will provide updates.

Each bidder shall certify that such person, firm, association, or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospec-

(continued)

tive bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

District One – Northeast

Atchison – 59-3 KA-5885-01 – U.S. 59, from the Jefferson/Atchison county line north 14.4 miles to the west city limits of Atchison, overlay, 14.4 miles. (Federal Funds)

Brown – 36-7 KA-6005-01 – Various locations on U.S. 36, pavement marking, 24.3 miles. (Federal Funds)

Doniphan – 36-22 KA-6004-01 – Various locations on U.S. 36, pavement marking, 27.9 miles. (Federal Funds)

Leavenworth – 24-52 KA-5883-01 – U.S. 24, from the K-16/U.S. 24 junction east 10.2 miles to the portland cement concrete pavement (PCCP) west of the Wyandotte/Leavenworth county line, milling and overlay, 10.2 miles. (State Funds)

Statewide – 32-106 KA-5868-01 – K-32, from the K-32/U.S. 24 junction east to the Douglas/Leavenworth county line and from the Douglas/Leavenworth county line east to the Leavenworth/Wyandotte county line, surface recycle, 17.2 miles. (State Funds)

Statewide – 159-106 KA-5880-01 – U.S. 159, from the north city limits of Effingham north to the Atchison/Brown county line and from the Brown/Atchison county line north to the south city limits of Horton, milling and overlay, 13.8 miles. (State Funds)

District Two – North Central

Chase – 50-9 KA-5887-01 – U.S. 50, from the Marion/Chase county line northeast 8.8 miles and from the Simmons Creek bridge (#65) east to 1,209 feet west of the west U.S. 50/K-177 junction, milling and overlay, 10.3 miles. (Federal Funds)

Clay – 14 C-4987-01 – Various major collector roads and local roads, pavement marking, 170.0 miles. (Federal Funds)

Dickinson – 15-21 KA-5851-01 – K-15, from the Marion/Dickinson county line north 20.6 miles to the south city limits of Abilene, milling and overlay, 20.6 miles. (Federal Funds)

Geary – 244-31 KA-6030-01 – K-244, from the K-244/RS270 junction east to the K-57/K-244 junction, crack repair, 3.9 miles. (State Funds)

Mitchell – 24-62 KA-3950-01 – U.S. 24, bridge #012 over Brown Creek located 7.61 miles east of K-128, bridge replacement. (Federal Funds)

Mitchell – 24-62 KA-3963-01 – U.S. 24, bridge #014 over Mulberry Creek located 11.15 miles east of K-128, bridge replacement. (Federal Funds)

Statewide – 9-106 KA-5861-01 – K-9, from the east city limits of Concordia east to the Cloud/Washington county line (excluding the City of Clyde) and from the Cloud/Washington county line east to the north city limits of Clifton, surface recycle, 18.7 miles. (State Funds)

Statewide – 15-106 KA-5865-01 – K-15, from the Dickinson/Clay county line north to the south city limits of Clay Center and from the east K-15/K-18 junction north to the Dickinson/Clay county line, milling and overlay, 23.1 miles. (State Funds)

District Three – Northwest

Logan – 83-55 KA-5884-01 – U.S. 83, from the Scott/Logan county line north approximately 29 miles to the east U.S. 40/U.S. 83 junction, overlay, 29.1 miles. (Federal Funds)

District Four – Southeast

Allen – 54-1 KA-3913-01 – U.S. 54, bridge #013 over the Union Pacific Railroad located approximately a quarter mile east of U.S. 59, bridge replacement. (Federal Funds)

Cherokee – 7-11 KA-6032-01 – Various locations on K-7, pavement marking, 11.1 miles. (Federal Funds)

District Five – South Central

Harper – 179-39 KA-6029-01 – K-179, from the Oklahoma/Kansas state line north to the south city limits of Anthony, crack repair, 11.1 miles. (State Funds)

Reno – 50-78 KA-5829-01 – U.S. 50, from the 2-lane/4-lane divide east to the Harvey/Reno county line, milling and overlay, 19.8 miles. (Federal Funds)

Sumner – 81-96 KA-4530-03 – U.S. 81, east bank of the Ninnescah River, adjacent to U.S. 81, located 1.4 mile north of the U.S. 81/K-55 junction (just west of the KTA) and the east bank of Ninnescah River adjacent to the intersection of East 100th Avenue North and U.S. 81, flood damage. (Federal Funds)

District Six – Southwest

Finney – 28 C-4971-01 – All paved major and minor collector roads and local roads, pavement marking, 200.0 miles. (Federal Funds)

Finney – 156-28 KA-5852-01 – K-156, from the east city limits of Garden City, northeast approximately 22 miles to the west K-156/K-23 junction, milling and overlay, 21.5 miles. (Federal Funds)

Finney – 50-28 KA-5886-01 – U.S. 50, from the U.S. 50 and Towns Road intersection near Garden City, east 9.8 miles to the Finney/Gray county line, milling and overlay, 9.8 miles. (Federal Funds)

Scott – 86 TE-0485-01 – Kansas and Oklahoma Railroad corridor from Alice Avenue to 6th Street in Scott City, pedestrian and bicycle paths, 0.6 mile. (Federal Funds)

Stanton – 160-94 KA-5840-01 – U.S. 160, from the Colorado/Kansas state line east to the south K-27/U.S. 160 junction, milling and overlay, 16.8 miles. (State Funds)

Julie Lorenz
Secretary

Doc. No. 048548

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking qualified consulting engineering firm(s) for the project listed below. Interested consulting firms must: (a) be prequalified by KDOT or (b) otherwise demonstrate qualification in the following categories: Category 212 Highway Design – Minor Facility and Category 222 Standard Span Bridge Design. Consultants may create a team

to meet the prequalification requirements. A PDF must be emailed to David Lutgen, P.E., Contracts Engineer at kdot.designcontracts@ks.gov. Responses are to be limited to eight pages. The subject line of the reply email and the file name must read "KA-6020-01 RFP – Firm Name." Request for Proposals (RFPs) must be received by 12:00 p.m. October 30, 2020 for the consulting firm to be considered.

If a firm is not currently prequalified by KDOT a response may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms may use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification category definitions (Blue Book) can be found at <http://www.ksdot.org/descons.asp>. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Scope of Services to be Performed

Project – Reconstruct and add shoulders along US-281 in Osborne County from the north junction of US-24/US-281 to the south city limits of Portis (State Street), including replacement of Bridge (036) (North Fork Solomon River).

Phase I – Prepare Plans to Materials: Including kick-off and coordination meetings with KDOT, field review, and engineer’s estimate. Anticipated completion by Summer 2021.

Phase II – Prepare Plans to Field Check. Anticipated completion by Winter 2022.

Phase III – Prepare Final Plans: Incorporate KDOT design comments, finalize plans sheets and cost estimates. Anticipated completion by Winter 2023.

Anticipated Letting – Spring 2024

Anticipated Schedule for Subsequent Events

RFPs are due by 12:00 p.m. (CST) October 30, 2020. Evaluation and ranking of technical proposals to occur on or about November 4, 2020 after which time all firms that submitted will be notified of their ranking. Negotiations with the most highly ranked firm to commence on or about November 18, 2020. Agreement in place and in effect December 8, 2020. RFPs are to be delivered via email to kdot.designcontracts@ks.gov.

Instructions for Proposal

1. No costs shall be contained in the RFP.
2. The RFP must not exceed eight (8) pages total to address the pertinent topics.
3. Please use the following naming convention for submittal... KA-6020-01 RFP – Firm Name.
4. RFPs submitted shall consist of the proposal and
 - a. a completed and signed Special Attachment No. 7 ("Certificate of Final Indirect Costs"), and
 - b. a completed and signed Special Attachment No. 8 ("Tax Clearance Certificate"), and
 - c. a completed and signed Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
5. Subconsultants will need to complete these attachments as well.

6. All these forms are attached to the original email announcement.
7. RFPs shall describe any processes or procedures, including best practices, that will be used to perform tasks and to produce deliverables described above under "Scope of Services to be Performed."
8. Also, include items such as:
 - a. Project manager/engineer in charge
 - b. History of projects with similar tasks
 - c. Availability of staff to meet schedule without overtime
 - d. Familiarity with KDOT standards and content
 - e. Any subconsultant and their role (if any) that will be performing services on the project.

Evaluation Factors

RFPs will be evaluated based on the factors listed below, evenly weighted, to rank the most qualified firm in order of preference as first, second, third, etc.

1. the quality and completeness of the response
2. qualifications and experience of consultant design personnel/manager proposed for services
3. proposed project approach
4. availability to respond to the work
5. past performance history for similar projects/services for KDOT.

The highest ranked firm will be asked to enter into negotiations with KDOT for an agreement. In the event KDOT cannot reach agreement with the ranked firm, it will terminate negotiations with such firm and commence negotiations with the next highest ranked firm, and so on, until either an agreement is reached for a satisfactory scope of services for a fair and reasonable price, or KDOT decides to pursue other alternatives.

Exhibits to this RFP

- Special Attachment No. 7 ("Certificate of Final Indirect Costs")
- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for this project. Special attachments for the Kansas "Tax Clearance Certificate," the "Certification of Final Indirect Costs," and the Special Attachment No. 10 ("Policy Regarding Sexual Harassment") will also eventually become attachments to the contract.

Questions shall be sent by email to KDOT at kdot.designcontracts@ks.gov.

Calvin E. Reed, P.E., Director
Division of Engineering and Design

Doc. No. 048536

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a consulting firm for each of the project groups listed below. Interested consulting firms must: be pre-
(continued)

qualified by KDOT or otherwise demonstrate qualification in category 212 Highway Design – Minor Facility. A PDF (2Mb maximum size) of the response must be emailed to kdot.designcontracts@ks.gov. Proposal responses are limited to twelve pages; the subject line of the reply email and the PDF file name must read “Shoulder Widening_FIRM NAME.” The proposal is required and must be received by 12:00 p.m. October 30, 2020 for the consulting firm to be considered.

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms may use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification category definitions (Blue Book) can be found at <http://www.ksdot.org/descons.asp>. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules and regulations.

Background and Scope of Projects

The rehabilitation and shoulder widening projects have been identified in the Eisenhower Legacy Transportation Program Expansion Pipeline. These projects are scheduled for letting in FY 2023 (July 2022 – June 2023). KDOT intends to select the most highly qualified firms to perform professional services associated with the design of these expansion projects. The projects are packaged into groups, each group includes one or two projects anticipated to be bundled for letting. Project groups and KDOT project numbers are included in Table 1. Firms can submit on any and all groups and may express preference(s) for up to two groups; however, there is no guarantee that a firm will be selected for any group or any expressed preference(s). Available as-built plans for each project can be obtained by contacting David Lutgen, P.E. at kdot.designcontracts@ks.gov and for questions.

Table 1: Rehabilitation and Shoulder Widening Bundles

Group/ Project Numbers	Route and Scope	Length	Project Termini
Group A			
7-19 KA-5803-01	K-7 Crawford County Widen and Add Shoulders	10.97 mi	North City Limits of Girard to the Crawford/Bourbon County Line
7-6 KA-5804-01	K-7 Bourbon County Widen and Add Shoulders	11.14 mi	Crawford/Bourbon County Line to 0.4 miles southeast of US-69
Group B			
160-96 KA-5805-01	US-160 Sumner County Rehabilitate and Add Shoulders	8.96 mi	East I-35 to the West City Limits of Oxford
Group C			
42-96 KA-5806-01	K-42 Sumner County Rehabilitate and Add Shoulders	6.40 mi	0.2 miles east of the K-2/K-42 Junction to the Sumner/Sedgewick County Line

42-87 KA-5807-01	K-42 Sedgewick County Rehabilitate and Add Shoulders	9.07 mi	Sumner/Sedgewick County Line northeast to south of W 71st St at Clonmel. MP 3.7 to MP 5.3 is exempted from the project.
Group D			
156-42 KA-5802-01	K-156 Hodgeman County Rehabilitate and Add Shoulders	15.05 mi	West of Jetmore east to 228 Road

KDOT is seeking consultant services to prepare construction drawings for pavement rehabilitation and widening for the addition of shoulders for the projects listed above. The scope of the services will vary for each project and may include culvert extensions, traffic engineering, hydrology/hydraulics, designer construction services, and permitting assistance for some projects. Safety analysis may be required to validate the shoulder width based on traffic and crash histories for each location. Survey will be completed for all projects by December 31, 2020. Geotech will be provided by KDOT early in the project development.

The project scopes include:

- Visit the project site location.
- Perform preliminary road and bridge design for plans to field check, to include determining the size, type, and location of any bridges located within the project limits.
- Develop final plans.
- Provide electronic plan files compliant with KDOT Graphic Standards Manual, including CAD conformance checks and ControlCAD indexed DGN files with ProjectWise attributes.
- Provide construction cost estimates bi-annually as well as at every major project milestone.

Special Conditions

Project Manager Consultant: These projects are being managed by a Project Manager Consultant (PMC) on behalf of KDOT. The PMC will be the primary contact for the selected firms.

Schedule Reporting: Project schedules will be developed during project negotiation. A basic schedule template, prepared by the PMC, will be reviewed and specific dates will be defined by the consultant in order to achieve the critical milestones. Monthly schedule progress reports and updates will be required throughout the project from the consultants and reviewed with the PMC to track progress for KDOT.

Quality Control: Consultants will be required to provide a Quality Control (QC) plan at project kick-off. QC audits will be conducted by the PMC throughout the project. The audits will check compliance with the consultant’s QC plan.

Schedule

These projects are scheduled to be let in FY 2023; therefore, the design activities must be scheduled to deliver complete plans between July 2022 and December 2022. These projects may follow an accelerated delivery schedule with some submittals required earlier than a typical KDOT design project to meet the letting requirements.

Instructions for Proposal

The main text of consultant’s proposal must not exceed twelve (12) pages (not including the cover letter) to address the topics listed in Table 2 below. The following outline is the expected submittal organization, content and page length for the technical proposals for each bridge group. Duplication of content in technical proposals is expected.

Table 2: Proposal Content

	Content	Pages
Cover Letter	Within the cover letter, indicate project group preferences	1 page
	Content	Pages
Overview	<ul style="list-style-type: none"> • Qualifications and Experience <ul style="list-style-type: none"> ◦ Project manager for the group (and for each project, if needed) ◦ Names, qualifications, education, training, and expertise of proposed team members • Past performance on similar projects, including references and contact information • Group Delivery Process <ul style="list-style-type: none"> ◦ Approach to schedule ◦ Quality control process 	4 pages
Project Approach	Highlight concepts for cost-effective and optimized solutions for projects in each group of projects on which the consultant is proposing. Include unique qualifications or experience that may inform the selection of firms and assignment of project groups.	1-2 pages per group

Selection Process

No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will not be considered in the selection process to rank proposals. Per standard KDOT consultant selection process, consultants will be selected from the technical proposal submitted for each project group and awarded all projects in that group. Selected consultants will proceed quickly through scoping, fee negotiation, and NTP. Each project within a group will be contracted separately. Fee negotiation will include estimates for preliminary engineering and final design; there will not be a contract pause for final design negotiation after field check.

Technical proposals will be evaluated based on the factors listed in Table 3 below to select the most qualified firms. All evaluation factors are weighted equally.

Table 3: Evaluation Factors

Evaluation Factor
Qualifications and Experience
Past Performance
Group Delivery Process: Approach to Schedule
Group Delivery Process: Approach to Quality Control
Project Group Approach: Unique Qualifications and Solutions
Familiarity with KDOT Design Standards and Project Area

The KDOT Consultant Selection Committee will select the most highly qualified firms expressing interest based

on Qualifications and Experience, Past Performance, Group Delivery process, Project Group Approach, and Familiarity with KDOT design standards and project area. The PMC will not be on the KDOT Consultant Selection Committee.

The selected firms will be asked to enter into negotiations with KDOT for an agreement. In the event KDOT cannot reach agreement with a selected firm, it will terminate negotiations and commence negotiations with the next highest ranked firm, and so on, until either agreement is reached for a satisfactory scope of services for a fair and reasonable price, or KDOT decides to pursue other alternatives.

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for this project. Special attachments for the Kansas “Tax Clearance Certificate,” the “Certification of Final Indirect Costs,” and the Special Attachment No. 10 (“Policy Regarding Sexual Harassment”) will also eventually become attachments to the contract.

The firm’s accounting systems must have the following capabilities before the firm may be awarded a contract.

- Valid, reliable, and current costs must be available within the system to support actual costs and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records which will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

Questions can be sent to kdot.designcontracts@ks.gov.

Kris Norton, P.E.,
 PMC Coordinating Engineer
 Division of Program and Project Management
 Doc. No. 048534

State of Kansas

Department of Transportation

Request for Comments

The Kansas Department of Transportation (KDOT) requests comments on the amendment of the Statewide Transportation Improvement Program (STIP) FY 21-24. The comprehensive list of project(s) being amended to the STIP may be viewed online at: <http://www.ksdot.org/bureaus/burProgProjMgmt/stip/stip.asp>. The project list includes projects for counties, cities, and projects on the state highway system. Along with the list of projects is an Administrative Narrative Modification #1 for updates that have occurred in the Program Financing and Performance Measure narrative sections of the STIP.

The amendment of the STIP requires a public comment period of 14 days. To make comment on this STIP amendment, contact KDOT’s Division of Program and Project Management, 2nd Floor Tower, 700 SW Harrison, Topeka, KS 66603-3754; phone 785-296-3254.

(continued)

This information is available in alternative accessible formats. To obtain an alternative format, contact the KDOT Office of Public Affairs at 785-296-3585 (Voice/Hearing Impaired-711).

The comment period regarding the STIP amendment for these projects will conclude November 4th, 2020.

Julie Lorenz
Secretary

Doc. No. 048549

State of Kansas

Kansas Water Authority

Notice of Meeting

The Kansas Water Authority (KWA) will have their meeting by webinar at 10:00 a.m. Monday, October 26, 2020. For additional meeting information or how to access the meeting, visit the Kansas Water Office website at www.kwo.ks.gov or call 785-296-3185.

Katie Patterson-Ingels
Communications Director

Doc. No. 048560

State of Kansas

Office of the Governor

Executive Directive No. 20-525
Authorizing Personnel Transactions

By virtue of the authority vested in the Governor as the head of the Executive Branch of the State of Kansas, the following transaction is hereby authorized:

The request of Kraig Knowlton, Director of Personnel Services, to establish the Disability Examiner Reviewer job classification and assign the job classification to pay grade 29 is hereby approved, effective October 4, 2020.

The request of Kraig Knowlton, Director of Personnel Services, to establish step 5 of pay grade 25 as the entry rate for the Highway Patrol Trooper Trainee job classification is hereby approved, effective October 4, 2020.

The request of Kraig Knowlton, Director of Personnel Services, to place all current employees in the Law Enforcement Officer III job classification on the steps of pay grade 35 indicated below is hereby approved, effective October 4, 2020.

<u>Years in Rank</u>	<u>Step</u>
0-3	10
4-5	11
6-8	12
9-10	13
11-13	14
14-15	15
16+	16

The request of Kraig Knowlton, Director of Personnel Services, to place all current employees in the Highway Patrol Lieutenant job classification on the steps of pay grade 36 indicated below is hereby approved, effective October 4, 2020.

<u>Years in Rank</u>	<u>Step</u>
0-3	11

4-5	12
6-8	13
9-10	14
11-13	15
14-15	16
16+	17

The request of Kraig Knowlton, Director of Personnel Services, to place all current employees in the Highway Patrol Captain job classification on the steps of pay grade 38 indicated below is hereby approved, effective October 4, 2020.

<u>Years in Rank</u>	<u>Step</u>
0-3	15
4-5	16
6-8	17
9-10	18
11+	19

I have conferred with the Secretary of Administration, the Director of the Budget, the Director of Personnel Services, and members of my staff, and I have determined that the requested action is appropriate.

Dated October 13, 2020.

Laura Kelly
Governor

Doc. No. 048553

State of Kansas

Office of the Governor

Executive Directive No. 20-526
Authorizing Expenditure of Federal Funds

By virtue of the authority vested in the Governor as the head of the Executive Branch of the State of Kansas, the following transactions are hereby authorized:

Pursuant to the authority of the Secretary of the Kansas Department for Aging and Disability Services to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 179(a) of Chapter 5 of the 2020 Session Laws of Kansas, approval is hereby granted to the Parsons State Hospital and Training Center for expenditure in FY 2021 of monies in the federal fund entitled "Coronavirus Grant Fund."

I have conferred with the Director of the Budget and members of my staff, and I have determined that the guidelines set forth in KSA 75-3711 and 75-3711c have been applied and that none of the foregoing actions exceeds the limitations contained therein.

Dated October 13, 2020.

Laura Kelly
Governor

Doc. No. 048554

State of Kansas

Kansas Development Finance Authority

Notice of Hearing

A public hearing will be conducted at 9:00 a.m. Monday, November 9, 2020, in the offices of the Kansas De-

velopment Finance Authority (K DFA), 534 S. Kansas Ave., Suite 800, Topeka, on the proposal for the K DFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond, which is then typically purchased by a lender bank who then, through the K DFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The project shall be located as shown:

Project No. 001069 Maximum Principal Amount: \$316,865.48. Owner/Operator: Nathan Porting; Description: Acquisition of 160 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes (the "Project"). The Project is being financed by the Lender for Nathan Porting (the "Beginning Farmer") and is located at Section 33, Township 2, Range 10, Marshall County, Kansas approximately 3 miles south of Axtell, Kansas on 110 then 2 miles west on Limestone Road.

The bond, when issued, will be a limited obligation of the K DFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the K DFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bond to finance the project, and all written comments previously filed with the K DFA at its offices at 534 S. Kansas Ave., Suite 800, Topeka, 66603, will be considered. Additional information regarding the project may be obtained by contacting the K DFA.

Rebecca Floyd
President

Doc. No. 048558

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3639. "777" instant ticket lottery game number 222. (a) The Kansas lottery may conduct an instant winner lottery game entitled "777." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3639.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
05	FIV
06	SIX

08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR

Symbol of a flame with a 7 in it

Prize Symbols

- FREE
- \$2.⁰⁰
- \$4.⁰⁰
- 10.⁰⁰
- 20.⁰⁰
- 50.⁰⁰
- \$100
- \$500
- \$10000

Captions

- TICKET
- TWO\$
- FOUR\$
- TEN\$
- TWENTY
- FIFTY
- ONE-HUN
- FIVE-HUN
- 10-THOU

(c) For this game, a play/prize symbol shall appear in 33 spots within the play area or areas, except that a play symbol of a 7 in a flame shall have no prize symbol associated with it.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "777" is a key number match game. The player will scratch the play area to reveal three "WINNING NUMBERS" and 15 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS," except that a play symbol of a 7 in a flame shall have no prize symbol below it. If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals three or more play symbols of a 7 in a flame, the player wins the prize amount shown in the prize legend on the front of the ticket that consists of the following:

Find	Win
Three—symbols of a 7 in a flame	\$7

(continued)

Four—symbols of a 7 in a flame	\$17
Five—symbols of a 7 in a flame	\$77
Six—symbols of a 7 in a flame	\$177
Seven — symbols of a 7 in a flame	\$10,000

(g) Each ticket in this game may win up to 15 times.

(h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per 1,200,000	Prize Cost
FREE	FREE TICKET	120,000	\$0
\$2	\$2	88,000	\$176,000
\$4	\$4	16,600	\$66,400
\$2 x 2	\$4	16,800	\$67,200
\$7 with three 7s	\$7	24,000	\$168,000
\$10	\$10	3,760	\$37,600
\$2 x 5	\$10	3,760	\$37,600
(\$4 x 2) + \$2	\$10	3,760	\$37,600
\$17 with four 7s	\$17	10,400	\$176,800
\$20	\$20	2,400	\$48,000
\$2 x 10	\$20	2,400	\$48,000
\$4 x 5	\$20	2,400	\$48,000
\$50	\$50	640	\$32,000
\$10 x 5	\$50	640	\$32,000
(\$4 x 10) + (\$2 x 5)	\$50	640	\$32,000
\$77 with five 7s	\$77	2,400	\$184,800
\$100	\$100	48	\$4,800
\$50 x 2	\$100	48	\$4,800
\$10 x 10	\$100	48	\$4,800
\$177 with six 7s	\$177	200	\$35,400
\$500	\$500	16	\$8,000
\$100 x 5	\$500	16	\$8,000
\$50 x 10	\$500	16	\$8,000
\$10,000 with seven 7s	\$10,000	3	\$30,000
\$10,000	\$10,000	3	\$30,000
Players Loyalty Program	\$13,392		\$13,392
	SUB-TOTAL	298,998	\$1,339,192.00

“7s” denotes the 7 in a flame play symbol

(j) The odds of winning a prize in this game are approximately one in 4.01. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-9-20, Aug. 19, 2020.)

111-4-3640. “Hot 777” instant ticket lottery game number 223. (a) The Kansas lottery may conduct an instant winner lottery game entitled “Hot 777.” The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3640.

(b) The “play and prize symbols” and “captions” for this game are as follows:

Play Symbols	Captions
06	SIX
08	EGT
09	NIN
11	ELVN
12	TWLV

13	THRN
14	FRTN
16	SIXTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THR FIV
36	THRSIX
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE

Symbol of a flame with a 7 in it

Prize Symbols	Captions
FREE	TICKET
\$5 ^{.00}	FIVE\$
10 ^{.00}	TEN\$
15 ^{.00}	FIFTEEN
50 ^{.00}	FIFTY
\$100	ONE-HUN
\$500	FIVE-HUN
\$25000	25-THOU

(c) For this game, a play/prize symbol shall appear in 45 spots within the play area or areas, except that a play symbol of a 7 in a flame shall have no prize symbol associated with it.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) “Hot 777” is a key number match game. The player will scratch the play area to reveal five “WINNING NUMBERS” and 20 “YOUR NUMBERS” with a prize amount below each of the “YOUR NUMBERS,” except that a play symbol of a 7 in a flame shall have no prize symbol below it. If a player matches any of the “YOUR NUMBERS” to any of the “WINNING NUMBERS,” the player wins the prize shown below that number. If a player reveals three or more play symbols of a 7 in a flame, the player wins the prize amount shown in the prize legend on the front of the ticket that consists of the following:

Find	Win
Three—symbols of a 7 in a flame	\$17

Four—symbols of a 7 in a flame	\$27
Five—symbols of a 7 in a flame	\$77
Six—symbols of a 7 in a flame	\$177
Seven – symbols of a 7 in a flame	\$777
Eight – symbols of a 7 in a flame	\$25,000

- (g) Each ticket in this game may win up to 20 times.
- (h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per 750,000	Prize Cost
FREE TICKET	FREE TICKET	37,500	\$0
\$5	\$5	65,000	\$325,000
\$10	\$10	20,000	\$200,000
\$5 + \$5	\$10	20,000	\$200,000
\$15	\$15	5,000	\$75,000
\$5 x 3	\$15	5,000	\$75,000
\$10 + \$5	\$15	5,000	\$75,000
\$17 with three 7s	\$17	22,000	\$374,000
\$27 with four 7s	\$27	12,500	\$337,500
\$50	\$50	1,000	\$50,000
\$5 x 10	\$50	1,250	\$62,500
\$10 x 5	\$50	1,250	\$62,500
\$77 with five 7s	\$77	3,475	\$267,575
\$100	\$100	100	\$10,000
\$50 x 2	\$100	100	\$10,000
\$5 x 20	\$100	100	\$10,000
\$177 with six 7s	\$177	300	\$53,100
\$500	\$500	15	\$7,500
\$50 x 10	\$500	15	\$7,500
\$777 with seven 7s	\$777	35	\$27,195
\$25,000 with eight 7s	\$25,000	2	\$50,000
\$25,000	\$25,000	2	\$50,000
Players Loyalty Program	\$18,957		\$18,957
	TOTAL	199,644	\$2,348,327

“7s” denotes the 7 in a flame play symbol

- (j) The odds of winning a prize in this game are approximately one in 3.76. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-9-20, Aug. 19, 2020.)

111-4-3641. “Flaming 777” instant ticket lottery game number 224. (a) The Kansas lottery may conduct an instant winner lottery game entitled “Flaming 777.” The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3641.

- (b) The “play and prize symbols” and “captions” for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
08	EGT
09	NIN

11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THR FIV
36	THRSIX
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX

Symbol of a flame with a 7 in it

Prize Symbols

FREE
10 ^{.00}
15 ^{.00}
17 ^{.00}
20 ^{.00}
50 ^{.00}
77 ^{.00}
\$500
\$1000
\$75000

Captions

TICKET
TEN\$
FIFTEEN
SEVNTN
TWENTY
FIFTY
SVTSV
FIVE-HUN
ONETHOU
75-THOU

Bonus Play Symbols

Symbol of a flame
Symbol of a gold bar
Symbol of a money roll
Symbol of a coin
Symbol of a money bag
Symbol of a wallet

Captions

WIN\$57
GLDBAR
MNYROL
COIN
MNYBAG
WALLET

- (c) For this game, a play/prize symbol shall appear in 57 spots within the play area or areas, except that a play symbol of a 7 in a flame shall have no prize symbol associated with it.

(continued)

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "Flaming 777" is a key number match game with a bonus play area. The player will scratch the play area to reveal six "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS," except that a play symbol of a 7 in a flame shall have no prize symbol below it. If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. In the play area, if a player reveals three or more play symbols of a 7 in a flame, the player wins the prize amount shown in the prize legend on the front of the ticket that consists of the following:

Find	Win
Three—symbols of a 7 in a flame	\$27
Four—symbols of a 7 in a flame	\$57
Five—symbols of a 7 in a flame	\$177
Six—symbols of a 7 in a flame	\$777
Seven – symbols of a 7 in a flame	\$1,777
Eight – symbols of a 7 in a flame	\$75,000

In the "BONUS" play area, if the player reveals a flame symbol, the player wins \$57.

(g) Each ticket in this game may win up to 26 times.

(h) Approximately 400,020 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 400,020 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus Area	Prize	Winners Per 400,020	Prize Cost
FREE TICKET		FREE TICKET	25,000	\$0
\$10		\$10	25,270	\$252,700
\$15		\$15	17,000	\$255,000
\$17		\$17	11,000	\$187,000
\$20		\$20	5,500	\$110,000
\$10 + \$10		\$20	5,500	\$110,000
\$27 with three 7s		\$27	14,000	\$378,000
\$50		\$50	900	\$45,000
(\$15 x 2) + \$20		\$50	1,000	\$50,000
(\$20 x 2) + \$10		\$50	1,000	\$50,000
\$10 x 5		\$50	1,000	\$50,000
\$57 with four 7s		\$57	3,500	\$199,500
	\$57	\$57	3,000	\$171,000
\$77		\$77	250	\$19,250
\$20	\$57	\$77	400	\$30,800
(\$10 x 6) + \$17		\$77	400	\$30,800
\$177 with five 7s		\$177	1,056	\$186,912
\$500		\$500	20	\$10,000
(\$50 x 4) + (\$10 x 16) + (\$17 x 4) + \$15	\$57	\$500	30	\$15,000
(\$77 x 4) + \$15 + (\$10 x 10) + \$20	\$57	\$500	30	\$15,000
(\$10 x 15) + (\$50 x 5) + (\$20 x 5)		\$500	20	\$10,000
\$777 with six 7s		\$777	110	\$85,470

\$1,000		\$1,000	4	\$4,000
(\$50 x 4) + \$500 + (\$20 x 8) + \$15 + (\$17 x 4)	\$57	\$1,000	4	\$4,000
\$500 x 2		\$1,000	4	\$4,000
(\$50 x 10) + \$500		\$1,000	4	\$4,000
\$1,777 with seven 7s		\$1,777	10	\$17,770
\$75,000 with eight 7s		\$75,000	2	\$150,000
\$75,000		\$75,000	2	\$150,000
Players Loyalty Program		\$26,097		\$26,097
		TOTAL	116,016	\$2,621,299

"7s" denotes the 7 in a flame play symbol

(j) The odds of winning a prize in this game are approximately one in 3.45. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-9-20, Aug. 19, 2020.)

111-4-3642. "Cash Lines" instant ticket lottery game number 244. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Cash Lines." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3642.

(b) The "play and prize symbols" and "prize captions" for this game are as follows:

Play Symbols	Captions
01	
02	
03	
04	
05	
06	
07	
08	
09	
10	
11	
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28	
29	
30	
31	
32	
33	
34	

35
36
37
38
39
40

Prize Symbols

FREE
\$3^{.00}
\$5^{.00}
\$10^{.00}
\$20^{.00}
\$25^{.00}
\$30^{.00}
\$50^{.00}
\$100
\$500
\$1,000
\$15,000

Captions

TICKET
THREE\$
FIVE\$
TEN\$
TWENTY
TWFIV
THIRTY
FIFTY
ONEHUN
FIVHUN
ONETHO
15-THOU

(c) For this game, a play/prize symbol shall appear in 40 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 099.

(e) The price of instant tickets sold by a retailer for this game shall be \$3.00 each.

(f) "Cash Lines" is a key number match game. The player will remove the scratch-off material to reveal 30 play symbols and 10 prize symbols. If the player matches all numbers in a complete row or column, the player wins the prize amount shown for that row and column.

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Get	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$3 Ticket	Free Ticket	108,000	\$0.00
\$5	\$5	36,000	\$180,000.00
\$10	\$10	18,000	\$180,000.00
\$5 x 2	\$10	18,000	\$180,000.00
\$20	\$20	4,500	\$90,000.00
\$10 x 2	\$20	4,500	\$90,000.00
\$10 + (\$5 x 2)	\$20	9,000	\$180,000.00
\$25	\$25	3,000	\$75,000.00
\$20 + \$5	\$25	3,000	\$75,000.00
(\$10 x 2) + \$5	\$25	3,000	\$75,000.00
\$30	\$30	1,350	\$40,500.00
\$5 x 6	\$30	2,250	\$67,500.00
\$3 x 10	\$30	2,250	\$67,500.00
\$50	\$50	375	\$18,750.00
\$30 + \$10 + (\$5 x 2)	\$50	525	\$26,250.00
\$25 + \$20 + \$5	\$50	525	\$26,250.00
\$5 x 10	\$50	375	\$18,750.00
\$100	\$100	150	\$15,000.00

Get	Prize	Expected Number of Prizes in Game	Expected Value in Game
\$50 x 2	\$100	150	\$15,000.00
\$10 x 10	\$100	75	\$7,500.00
\$25 x 4	\$100	75	\$7,500.00
\$500	\$500	11	\$5,500.00
\$50 x 10	\$500	19	\$9,500.00
\$1,000	\$1,000	10	\$10,000.00
\$100 x 10	\$1,000	10	\$10,000.00
\$15,000	\$15,000	4	\$60,000.00
Player Loyalty Program			\$14,000.00
Total		215,154	\$1,544,500.00

(j) The odds of winning a prize in this game are approximately one in 4.18. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-9-20, Aug. 19, 2020.)

Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

111-19-93. Kansas Celebration Drawing. (a) The Kansas lottery may conduct a drawing entitled "Kansas Celebration" awarding a \$500 cash prize to each of the five players selected as the winners. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on September 1, 2020. Entry deadline into the drawing is 11:59 p.m. on September 21, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on September 25, 2020, at which time the winners will be announced.

(b) The specific tickets eligible for entry into the drawing shall be winning and non-winning \$2 Kansas lottery instant game ticket from "Kansas Celebration," game number 185.

(c) A player shall enter the drawing through the Kansas Lottery PlayOn program available at www.kslottery.com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Kansas Celebration Drawing." The player may enter the required data from the entry ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry into the drawing.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.

(e) There is no limit on the number of winning or non-winning tickets a player may enter, but a player may only win one prize in this drawing.

(f) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except in this promotion the 10-day deadline for the winners to return their claim forms shall commence with the date of the announcement of winners.

(g) By entering the promotion, entrant agrees to PlayOn terms and conditions.

(h) Winners are responsible for state and federal income taxes.

(continued)

(i) Rules applicable to this promotion are contained in K.A.R. 111-19-93 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-10-9-20, Aug. 19, 2020.)

Article 301.—SPECIFIC LOTTERY FACILITY GAMES AT LOTTERY GAMING FACILITIES

111-301-72. Name of game; rules and regulations.

The Kansas lottery shall conduct a lottery facility game at the Boot Hill Casino in Dodge City, Kansas, entitled "I Luv Suits." I Luv Suits is a game that each player may play against the dealer and/or play against posted paytables.

The rules and regulations for the game of I Luv Suits are contained in K.A.R. 111-301-72 through 111-301-76, and applicable generic rules are contained in K.A.R. 111-201-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-10-9-20, Aug. 19, 2020.)

111-301-73. Definitions. The following definitions shall have the following meanings unless the context clearly indicates otherwise.

(a) "Ante wager" means the wager that a player is required to make prior to any cards being dealt in a round of play.

(b) "Flush" means a hand in which all cards are in the same suit.

(c) "Flush rush wager" means the optional wager that a player makes prior to any cards being dealt in order to compete against a posted payable, regardless of the outcome of the player's hand against the dealer.

(d) "Hand" means the seven cards that are held by each player and the dealer after all cards have been dealt.

(e) "Play wager" means an additional wager that a player must make if the player chooses to remain in competition against the dealer after the player reviews his or her hand.

(f) "Round of play" means one complete cycle of play during which all wagers have been placed, all cards have been dealt and all remaining wagers have been paid off or collected in accordance with the rules of the game.

(g) "Straight flush" means a hand in which all cards are in the same suit and in consecutive rank order.

(h) "Straight flush rush wager" means the optional wager that a player makes prior to any cards being dealt in order to compete against a posted payable, regardless of the outcome of the player's hand against the dealer.

(i) "Suit" means one of the four categories of cards: club, diamond, heart or spade. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-10-9-20, Aug. 19, 2020.)

111-301-74. Card and hand rankings. (a) The rank of the cards used in "I Luv Suits," in order of highest to lowest rank, shall be: ace, king, queen, jack, 10, 9, 8, 7, 6, 5, 4, 3, and 2. All suits shall be considered equal in rank. Notwithstanding the foregoing, an ace may also be used as the equivalent of a "1" card to complete a straight flush. An ace may only be used as the highest ranking card in a flush. The only permissible hands in the game of I Luv Suits are certain straight flushes and flushes.

(b) The permissible straight flushes in order of highest to lowest rank, shall be as follows:

(1) Seven card straight flush, with ace, king, queen, jack, 10, 9, and 8 being the highest ranking seven card straight flush and 7, 6, 5, 4, 3, 2 and ace being the lowest ranking seven card straight flush.

(2) Six card straight flush, with ace, king, queen, jack, 10 and 9 being the highest ranking six card straight flush and 6, 5, 4, 3, 2 and ace being the lowest ranking six card straight flush.

(3) Five card straight flush, with ace, king, queen, jack and 10 being the highest ranking five card straight flush and 5, 4, 3, 2 and ace being the lowest ranking five card straight flush.

(4) Four card straight flush, with ace, king, queen and jack being the highest ranking four card straight flush and 4, 3, 2 and ace being the lowest ranking four card straight flush.

(5) Three card straight flush, with ace, king and queen being the highest ranking three card straight flush and 3, 2 and ace being the lowest ranking three card straight flush.

(c) The permissible flushes in order of highest to lowest rank, shall be as follows:

(1) Seven card flush.

(2) Six card flush.

(3) Five card flush.

(4) Four card flush.

(5) Three card flush.

(6) Two card flush.

(d) Ranking of hands containing a flush is based upon the number of cards of the same suit in the player's and dealer's hands. In the event both the dealer and the player have the same number of cards in their flush, the winning hand is determined by the highest ranking card of the flush in each hand. If the highest ranking card is the same in both hands, the second highest card shall determine the winner. If the highest and second highest ranking cards are the same in both hands, the third highest ranking card shall be used to determine the winner. This same procedure shall be used for each successively lower ranked card in each hand until a winner or a tie is determined. If the hands are of identical rank after the application of this comparison, the hands shall be considered a tie or draw and any ante wager and play wager are returned to the player. When determining the winning hand between the player and dealer, it is irrelevant whether the flush also constitutes a straight flush. Straight flushes are only relevant to the optional straight flush rush wager. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-10-9-20, Aug. 19, 2020.)

111-301-75. Wagers. (a) The following wagers may be placed in the game of I Luv Suits:

(1) In order to participate in a round of play, before any cards are dealt a player must place an ante wager that is in any amount within the minimum and maximum wagers posted at the table.

(2) After examination of his or her cards, each player who has placed an ante wager shall have the option to either forfeit the ante wager and end his or her participation against the dealer's hand or compete against the dealer. If a player chooses to compete against the dealer, the player must discard all cards the player will not uti-

lize to compete against the dealer and place one of the following play wagers:

(A) if the player's hand contains fewer than five cards of the same suit, the play wager must be in the same amount as the player's ante wager;

(B) if the player's hand contains five or more cards of the same suit, the play wager may be in any amount up to two times the player's ante wager; or,

(C) if the player's hand contains six or seven cards of the same suit, the play wager may be in any amount up to three times the player's ante wager.

(3) A player placing an ante wager may also compete against a payable by placing a flush rush wager and/or straight flush rush wager in any amount within the minimum and maximum wagers posted at the table; or,

(4) A player may compete against both the dealer and the payable by placing wagers in accordance with the requirements of (a)(1), (a)(2) and (a)(3) above.

(b) All wagers at I Luv Suits shall be made by placing gaming chips or authorized vouchers on the appropriate betting areas of the game table layout approved by the Kansas lottery.

(c) Only players who have placed wagers at a gaming position at a I Luv Suits game table are eligible to receive cards.

(d) No wager shall be made, increased, or withdrawn after the first card has been dealt in that round of play.

(e) An additional wager may be made as a tip for the dealer on the ante wager, play wager, flush rush wager, and the straight flush rush wager. In order to place a play wager for the dealer, the player must have previously placed an ante wager as a tip for the dealer. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-10-9-20, Aug. 19, 2020.)

111-301-76. Play. (a) The game of I Luv Suits is played with a standard 52-card deck of playing cards.

(b) A shuffling machine may be used in the game of I Luv Suits. When a shuffling machine is used, the machine will deal seven cards at a time. Beginning with the first player to the left of the dealer and continuing clockwise in order around the table, the dealer shall deal each player and the dealer seven cards one stack at a time face down. In the event a shuffling machine is not used and the dealer manually shuffles the cards, beginning with the first player to the left of the dealer and continuing clockwise in order around the table, the dealer shall deal each player and the dealer seven cards face down. Each player shall be dealt all seven cards before the next player or dealer is dealt his or her seven cards.

(c) After all cards have been dealt, each player may examine his or her cards. Each player who places a wager shall be responsible for his or her own hand and no person other than the dealer and the player to whom the cards were dealt may touch the cards of that player.

(d) After examination of his or her cards, each player shall have the option to either forfeit the ante wager and end his or her participation against the dealer's hand or make a play wager. If the player's hand consists of five cards of the same suit, the player may make a play wager up to two times the amount of the player's ante wager. If the player's hand consists of six or seven cards of the same suit, the player may make a play wager up to three

times the amount of the player's ante wager. If a player has placed an ante wager along with a flush rush wager and/or super flush rush wager but does not make a play wager, the player shall forfeit the ante wager.

(e) After each player has either placed a play wager on the designated area of the table or forfeited his or her wager and hand, the dealer shall collect all forfeited wagers and associated cards, placing them in the discard rack or automatic shuffling device. The dealer shall then reveal the dealer's cards and place the cards so as to form the highest possible ranking hand available for the dealer's cards.

(f) The dealer shall then settle the wagers remaining on the table by performing the procedure in subsection (h) below. All cards collected during the procedure shall be placed in the discard rack or automatic shuffling machine.

(g) Starting with the player farthest to the dealer's right and continuing counterclockwise around the table the dealer shall:

(1) Reveal the cards of each remaining player, one player at a time;

(2) Determine the highest ranking hand of each remaining player;

(3) Collect all losing wagers;

(4) Pay each winning wager in accordance with the payout odds listed below; and,

(5) Collect all player cards and place them in the discard rack or automatic shuffling machine.

(h) All cards collected by the dealer shall be picked up in order and placed in the discard rack or automatic shuffling machine in such a way that they can be readily arranged to reconstruct each hand in the event of a question or dispute.

(i) There are three winning payout types, as follows:

(1) A player in competition against the dealer shall be paid at odds of one to one on both the ante wager and the play wager if the player's hand is ranked higher than the dealer's hand, except that to win both wagers the dealer's hand must contain at least a three card flush containing a 9 or higher ranking card and the player's hand must be ranked higher than the dealer's hand. If the dealer does not hold a hand with at least a three card flush containing a 9 or higher ranking card, the player's ante wager shall automatically be paid at odds of one to one and the player's play wager shall be returned to the player as a tie.

(2) A player placing a flush rush wager shall be paid at the following odds:

Four card flush	1 to 1
Five card flush	10 to 1
Six card flush	100 to 1
Seven card flush	300 to 1

(3) A player placing a super flush rush wager shall be paid at the following odds:

Three card straight flush	7 to 1
Four card straight flush	75 to 1
Five card straight flush	100 to 1
Six card straight flush	200 to 1
Seven card straight flush	500 to 1

(4) Notwithstanding the payout odds, the maximum aggregate payout limit for any flush rush or super flush

(continued)

rush hand shall be the posted maximum wager times the maximum posted odds, exclusive of the ante or the play wager. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-10-9-20, Aug. 19, 2020.)

Article 501.—SOUTH CENTRAL GAMING ZONE

111-501-71. Definitions. The following definitions shall apply to the Fortune Pai Gow Poker game:

(a) "Bank" or "banker" means the player who elects to have other players and the dealer play against him or her and accepts the responsibility to pay all winning wagers.

(b) "Base bet" means the mandatory wager that must be made before the dealer deals the cards, the minimum and maximum limits of which bets shall be posted at each table.

(c) "Chung" means the object used to designate the banker.

(d) "Copy hand" means either a two-card hand or a five-card hand of a player which is identical in rank to the corresponding two-card hand or five-card hand of the dealer or bank.

(e) "Envy bonus" means the bonus for which a player qualifies if the player has bet at least \$5.00 on that hand, which bonus is won when any player at the table receives a hand consisting of a four of a kind or higher ranking hand, excluding the dealer and the dealer's own hand.

(f) "Fortune bonus bet" means an optional side bet with a separate pay table, which bet must be made concurrently with the base bet, with the minimum fortune bonus bet being \$1.00 and the maximum fortune bonus bet being \$25.00.

(g) "Foul" or "fouled hand" means when the two-card low hand is higher in rank than the five-card high hand. The banker cannot foul his or her hand and must reset the cards.

(h) "High hand" means the five-card hand which is formed from the seven cards dealt in the game of Pai Gow Poker so as to rank equal to or higher than the two-card low hand.

(i) "Low hand" means the two-card hand which is formed from the seven cards dealt at the game of Pai Gow Poker so as to rank equal to or lower than the five-card high hand.

(j) "Progressive pool" means the set percentage of all progressive wagers made in the game of Pai Gow Poker that accumulates until paid to one or more winners of a progressive wager.

(k) "Progressive wager" means an optional wager that a player may make prior to any cards being dealt that the player's best hand will be a full house, four of a kind, straight flush, royal flush, five aces, or a seven-card straight flush with or without using the joker, with a winning progressive wager being paid in accordance with a posted pay table regardless of the outcome of the player's hand otherwise.

(l) "Rank" or "ranking" means the relative position of a card or group of cards in descending order.

(m) "Royal match" means a king and queen of the same suit.

(n) "Set" or "setting the hands" means the process of forming a high hand and a low hand from the seven cards dealt.

(o) "Suit" means one of the four categories of standard playing cards, i.e., diamond, spade, club, or heart. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-12-22-11, Oct. 12, 2011; amended, T-111-12-20-19, Nov. 13, 2019; amended, T-111-10-9-20, Aug. 19, 2020.)

111-501-81. Payout odds and limitations. (a) Pai Gow Poker payout odds shall be as follows:

Seven card straight flush (without using the joker)	2,500 to 1, with \$1,000 envy bonus
Royal flush including royal match	1,000 to 1, with \$750 envy bonus
Seven card straight flush (using the joker)	750 to 1, with \$250 envy bonus
Five aces	250 to 1, with \$100 envy bonus
Royal flush without royal match	125 to 1, with \$50 envy bonus
Straight flush	50 to 1, with \$20 envy bonus
Four of a kind	25 to 1, with \$5 envy bonus
Full house	5 to 1
Flush	4 to 1
Three of a kind	3 to 1
Straight	2 to 1

(b) Notwithstanding the payout odds above, the payout limit for any round of play shall be \$25,000 with regard to any number or combination of hands consisting of a seven card straight flush, a royal flush plus a royal match or five aces. All hands consisting of a royal flush, straight flush, four-of-a-kind, full house, flush, three of a kind or straight will be paid regardless of the \$25,000 limit stated above.

(c) The mathematical formula for determining the payout with a \$25,000 maximum is:

- (1) the individual awards each are determined;
- (2) the sum total of these awards are determined (SUM);
- (3) the ratio of LIMIT/SUM are determined as a percentage;

(4) each player is paid the product of the individual awards multiplied by the percentage, with each amount rounded to the nearest whole dollar, with the player receiving the lowest payout receiving any additional amount, if any, necessary to bring the cumulative payout to \$25,000.

(5) By way of example only: Limit = \$25,000; player one ("A1") has a seven card straight flush without a joker and had wagered \$25, for a \$62,500 win; player two ("A2") has a royal flush plus royal match and had wagered \$30, for a \$30,000 win; player three ("A3") has five aces and had wagered \$15, for a \$3,750 win; the sum ("SUM") of all wins equals \$96,250; the \$25,000 limit divided by sum of all wins of \$96,250 equals .2597; player one gets \$62,500 times .2597, which equals \$16,231; player two gets \$30,000 times .2597, which equals \$7,791; and, player three gets \$3,750 times .2597, which equals \$974 (plus an additional \$4, as set forth hereinafter), for a total payout of \$25,000. Based on the formula there are four dollars left over after all payouts are made. The four dollars would be paid to the lowest payout. In the above example it would be paid to player three, who would receive a total of \$978.

(d) Players shall be paid on each winning progressive wager in accordance with the following pay table:

Player's Hand	Payout Percentage or Odds
Seven card straight flush (with or without using the joker)	100% of progressive pool*
Five aces (4 aces and the joker)	10% of progressive pool*
Royal flush	500 for 1*
Straight flush	100 for 1*
Four of a kind	75 for 1*
Full house	4 for 1*

*This does not include the return of the player's original bet and only the two prizes denoted as percentages shall be paid out of the progressive pool.

(e) The minimum progressive wager shall be in the amount of either \$1.00 or \$5.00 as selected by the lottery gaming facility manager and posted at each table that offers the progressive wager.

(f) The progressive pool shall be funded as follows:

(1) The casino manager shall initially contribute \$10,000 if the minimum progressive wager is \$1.00 or shall initially contribute \$50,000 if the minimum progressive wager is \$5.00 to establish the beginning amount for the progressive pool. Each time the progressive pool falls below the beginning amount the casino manager shall contribute such amount necessary to restore the progressive pool back to the beginning amount; and

(2) For each progressive wager made 28% of each progressive wager shall be added to the progressive pool.

(g) If during the same round of play more than one player is entitled to 100% of the progressive pool, the player farthest to the right of the dealer shall receive the amount in the progressive pool at that time and all other players entitled to 100% of the progressive pool shall each receive the beginning amount of the progressive pool.

(h) If during the same round of play one or more players are entitled to 100% of the progressive pool and one or more players are also entitled to 10% of the progressive pool, the winning player farthest to the right of the dealer shall first receive either 100% or 10% of the progressive pool, as applicable. After paying the player farthest to the right of the dealer and deducting that amount from the progressive pool, working from that player to the dealer's left each player winning a share of the progressive pool shall be paid either 10% of the amount then remaining in the progressive pool or 100% of the beginning amount, as applicable. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-12-22-11, Oct. 12, 2011; amended, T-111-12-20-19, Nov. 13, 2019; amended, T-111-10-9-20, Aug. 19, 2020.)

Stephen W. Durrell
Executive Director

Doc. No. 048559

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2019 Supplement of the *Kansas Administrative Regulations*. Regulations can also be found at http://www.sos.ks.gov/pubs/pubs_kar.aspx.

AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register
4-34-1	New	V. 38, p. 57
4-34-2	New	V. 38, p. 58
4-34-3	New	V. 38, p. 58
4-34-4	New	V. 38, p. 59
4-34-5	New	V. 38, p. 59
4-34-6	New	V. 38, p. 61
4-34-7	New	V. 38, p. 62
4-34-8	New	V. 38, p. 62
4-34-9	New	V. 38, p. 63
4-34-10	New	V. 38, p. 64
4-34-11	New	V. 38, p. 64
4-34-12	New	V. 38, p. 64
4-34-13	New	V. 38, p. 65
4-34-14	New	V. 38, p. 65
4-34-15	New	V. 38, p. 66
4-34-16	New	V. 38, p. 66
4-34-17	New	V. 38, p. 67
4-34-18	New	V. 38, p. 67

4-34-19	New	V. 38, p. 68
4-34-20	New	V. 38, p. 68
4-34-21	New	V. 38, p. 70

AGENCY 5: DEPARTMENT OF AGRICULTURE—DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-21-7	Revoked	V. 38, p. 1296
5-25-2	Amended	V. 38, p. 1296
5-25-4	Amended	V. 38, p. 1296
5-25-22	New	V. 38, p. 1297

AGENCY 7: SECRETARY OF STATE

Reg. No.	Action	Register
7-47-1	New (T)	V. 38, p. 855
7-47-1	New	V. 38, p. 1113

AGENCY 9: DEPARTMENT OF AGRICULTURE—DIVISION OF ANIMAL HEALTH

Reg. No.	Action	Register
9-18-6	Amended	V. 38, p. 55
9-18-9	Amended	V. 38, p. 56
9-18-23	New	V. 38, p. 1407
9-18-28	Amended	V. 38, p. 56
9-23-1	Revoked	V. 38, p. 1408
9-23-2	Revoked	V. 38, p. 1408
9-23-3	Revoked	V. 38, p. 1408

AGENCY 10: KANSAS BUREAU OF INVESTIGATION

Reg. No.	Action	Register
10-22-1	Amended	V. 38, p. 1089
10-23-1	New	V. 38, p. 773
10-23-2	New	V. 38, p. 773
10-23-3	New	V. 38, p. 773
10-23-4	New	V. 38, p. 773
10-23-5	New	V. 38, p. 773
10-23-6	New	V. 38, p. 773
10-24-1	New (T)	V. 39, p. 732

10-24-1	New	V. 39, p. 1074
10-24-2	New (T)	V. 39, p. 732
10-24-2	New	V.39, p. 1074
10-24-3	New (T)	V. 39, p. 732
10-24-3	New	V. 39, p. 1075

AGENCY 14: DEPARTMENT OF REVENUE—DIVISION OF ALCOHOLIC BEVERAGE CONTROL

Reg. No.	Action	Register
14-6-4	Revoked (T)	V. 38, p. 856
14-6-4	Revoked	V. 38, p. 1203

AGENCY 16: ATTORNEY GENERAL

Reg. No.	Action	Register
16-14-1	Amended	V. 39, p. 1155
16-14-10	Amended	V. 39, p. 1155
16-14-11	Amended	V. 39, p. 1155
16-18-1	New	V. 38, p. 856
16-18-2	New	V. 38, p. 856
16-18-3	New	V. 38, p. 857
16-19-1	New	V. 39, p. 208
16-19-2	New	V. 39, p. 208
16-19-3	New	V. 39, p. 208
16-20-1	New (T)	V. 39, p. 462
16-20-1	New	V. 39, p. 1075

AGENCY 17: OFFICE OF THE STATE BANK COMMISSIONER

Reg. No.	Action	Register
17-23-9	Revoked	V. 39, p. 146

AGENCY 26: DEPARTMENT FOR AGING AND DISABILITY SERVICES

Reg. No.	Action	Register
26-38-1	New	V. 39, p. 1155
26-38-2	New	V. 39, p. 1156
26-38-3	New	V. 39, p. 1157
26-38-4	New	V. 39, p. 1157
26-38-5	New	V. 39, p. 1157
26-38-6	New	V. 39, p. 1158

26-38-7	New	V. 39, p. 1158
26-38-8	New	V. 39, p. 1159
26-38-9	New	V. 39, p. 1160
26-38-10	New	V. 39, p. 1160
26-38-11	New	V. 39, p. 1160

AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT

Reg. No.	Action	Register
28-1-20	Amended	V. 38, p. 924
28-1-40	New (T)	V. 39, p. 1018
28-1-41	New (T)	V. 39, p. 1018
28-1-42	New (T)	V. 39, p. 1018
28-1-43	New (T)	V. 39, p. 1018
28-1-44	New (T)	V. 39, p. 1019
28-4-133	New	V. 38, p. 1434
28-15-52	Amended	V. 39, p. 171
28-15-53	Amended	V. 39, p. 171
28-24-1	Amended	V. 39, p. 336
28-24-2	Amended	V. 39, p. 336
28-24-3	Amended	V. 39, p. 336
28-24-4	Amended	V. 39, p. 337
28-24-5	Amended	V. 39, p. 337
28-24-6	Amended	V. 39, p. 337
28-24-7	Amended	V. 39, p. 337
28-24-8	Amended	V. 39, p. 337
28-24-9	Amended	V. 39, p. 337
28-24-10	Amended	V. 39, p. 338
28-24-11	Amended	V. 39, p. 338
28-24-12	Amended	V. 39, p. 338
28-24-13	Amended	V. 39, p. 339
28-24-14	Amended	V. 39, p. 339
28-35-146a	Amended	V. 38, p. 130
28-35-147a	Amended	V. 38, p. 130
28-38-18	Revoked	V. 39, p. 1160
28-38-19	Revoked	V. 39, p. 1160
28-38-20	Revoked	V. 39, p. 1160
28-38-21	Revoked	V. 39, p. 1160
28-38-22	Revoked	V. 39, p. 1161
28-38-23	Revoked	V. 39, p. 1161
28-38-26	Revoked	V. 39, p. 1161
28-38-28	Revoked	V. 39, p. 1161
28-38-29	Revoked	V. 39, p. 1161
28-38-30	Revoked	V. 39, p. 1161
28-44-12	Amended	V. 39, p. 819
28-44-13	Amended	V. 39, p. 819
28-44-14	Amended	V. 39, p. 819
28-44-15	Amended	V. 39, p. 820
28-44-16	Amended	V. 39, p. 820
28-44-17	Amended	V. 39, p. 820
28-44-18	Amended	V. 39, p. 821
28-44-19	Amended	V. 39, p. 821
28-44-20	Amended	V. 39, p. 821
28-44-21	Amended	V. 39, p. 821
28-44-22	Amended	V. 39, p. 822
28-44-23	Amended	V. 39, p. 822
28-44-24	Amended	V. 39, p. 822
28-44-25	Amended	V. 39, p. 822
28-44-26	Amended	V. 39, p. 823
28-44-27	Amended	V. 39, p. 823
28-44-28	Revoked	V. 39, p. 824
28-44-29	Amended	V. 39, p. 824
28-44-30	New	V. 39, p. 825
28-44-31	New	V. 39, p. 825
28-55-1	Revoked	V. 38, p. 1024
28-55-2	Revoked	V. 38, p. 1024
28-55-3	Revoked	V. 38, p. 1025
28-55-4	Revoked	V. 38, p. 1025
28-55-5	Revoked	V. 38, p. 1025

AGENCY 30: KANSAS DEPARTMENT FOR CHILDREN AND FAMILIES

Reg. No.	Action	Register
30-4-34	Amended	V. 38, p. 403
30-4-35	Amended	V. 38, p. 403
30-4-36	Amended	V. 38, p. 403

30-4-40	Amended	V. 38, p. 403
30-4-41	Amended	V. 38, p. 404
30-4-50	Amended	V. 38, p. 404
30-4-51	Amended	V. 38, p. 405
30-4-54	Amended	V. 38, p. 405
30-4-64	Amended	V. 38, p. 406
30-4-90	Revoked	V. 38, p. 407
30-4-98	Amended	V. 38, p. 407
30-4-100	Amended	V. 38, p. 407
30-4-107	Amended	V. 38, p. 408
30-4-109	Amended	V. 38, p. 408
30-4-111	Amended	V. 38, p. 409
30-4-113	Amended	V. 38, p. 409
30-4-120	Revoked	V. 38, p. 410
30-4-130	Amended	V. 38, p. 410
30-4-140	Amended	V. 38, p. 412
30-46-10	Amended	V. 38, p. 128
30-46-13	Amended	V. 38, p. 128
30-46-15	Amended	V. 38, p. 129
30-46-17	Amended	V. 38, p. 129

AGENCY 36: KANSAS DEPARTMENT OF TRANSPORTATION

Reg. No.	Action	Register
36-45-1	New (T)	V. 39, p. 1104
36-45-2	New (T)	V. 39, p. 1105
36-45-3	New (T)	V. 39, p. 1105
36-45-4	New (T)	V. 39, p. 1106
36-45-5	New (T)	V. 39, p. 1106
36-45-6	New (T)	V. 39, p. 1106
36-45-7	New (T)	V. 39, p. 1106
36-45-8	New (T)	V. 39, p. 1107
36-45-10	New (T)	V. 39, p. 1108

AGENCY 47: DEPARTMENT OF HEALTH AND ENVIRONMENT—MINED-LAND CONSERVATION AND RECLAMATION

Reg. No.	Action	Register
47-2-75	Amended	V. 38, p. 84
47-3-1	Amended	V. 38, p. 86
47-3-2	Amended	V. 38, p. 86
47-3-42	Amended	V. 38, p. 86
47-5-5a	Amended	V. 38, p. 90
47-6-1	Amended	V. 38, p. 93
47-6-2	Amended	V. 38, p. 93
47-6-3	Amended	V. 38, p. 94
47-6-4	Amended	V. 38, p. 94
47-6-6	Amended	V. 38, p. 94
47-6-8	Amended	V. 38, p. 94
47-6-9	Amended	V. 38, p. 95
47-6-10	Amended	V. 38, p. 95
47-6-11	Amended	V. 38, p. 95
47-7-2	Amended	V. 38, p. 96
47-8-9	Amended	V. 38, p. 96
47-9-1	Amended	V. 38, p. 97
47-9-4	Amended	V. 38, p. 103
47-10-1	Amended	V. 38, p. 103
47-11-8	Amended	V. 38, p. 105
47-12-4	Amended	V. 38, p. 105
47-13-4	Amended	V. 38, p. 106
47-14-7	Amended	V. 38, p. 107
47-15-1a	Amended	V. 38, p. 107
47-16-6	Amended	V. 38, p. 108
47-16-9	Amended	V. 38, p. 108
47-16-10	Amended	V. 38, p. 108
47-16-12	Amended	V. 38, p. 109
47-16-13	New	V. 38, p. 109

AGENCY 51: DEPARTMENT OF LABOR—DIVISION OF WORKERS COMPENSATION

Reg. No.	Action	Register
51-9-7	Amended	V. 38, p. 231
51-9-17	Amended	V. 38, p. 212

AGENCY 60: BOARD OF NURSING

Reg. No.	Action	Register
60-4-101	Amended	V. 38, p. 545
60-11-116	Amended	V. 39, p. 1021
60-11-119	Amended	V. 39, p. 1022
60-13-110	Amended	V. 39, p. 1022
60-16-101	Amended	V. 39, p. 12
60-16-103	Amended	V. 39, p. 12
60-16-104	Amended	V. 39, p. 13

AGENCY 63: BOARD OF MORTUARY ARTS

Reg. No.	Action	Register
63-5-3	New	V. 38, p. 183

AGENCY 66: BOARD OF TECHNICAL PROFESSIONS

Reg. No.	Action	Register
66-7-4	New	V. 38, p. 989
66-9-7	Amended	V. 38, p. 622
66-10-1	Amended	V. 38, p. 622
66-10-3	Amended	V. 38, p. 622
66-15-1	New	V. 39, p. 14

AGENCY 67: BOARD OF EXAMINERS IN FITTING AND DISPENSING OF HEARING INSTRUMENTS

Reg. No.	Action	Register
67-1-8	New	V. 38, p. 1489
67-2-4	Amended	V. 38, p. 1489
67-5-5	Amended	V. 38, p. 1490

AGENCY 68: BOARD OF PHARMACY

Reg. No.	Action	Register
68-2-5	Amended	V. 39, p. 105
68-2-10	Amended	V. 38, p. 1463
68-5-16	Amended	V. 39, p. 106
68-7-15	Amended	V. 38, p. 1337
68-11-1	Amended	V. 38, p. 541
68-11-2	Amended	V. 38, p. 541
68-14-1	Revoked	V. 38, p. 1463
68-14-2	Amended	V. 38, p. 1463
68-14-3	Revoked	V. 38, p. 1464
68-14-4	Amended	V. 38, p. 1464
68-14-5	Amended	V. 38, p. 1464
68-14-7	Amended	V. 38, p. 1464
68-14-7a	New	V. 38, p. 1466
68-14-7b	New	V. 38, p. 1468
68-19-1	Amended	V. 38, p. 1337
68-21-6	Amended	V. 38, p. 1338

AGENCY 69: BOARD OF COSMETOLOGY

Reg. No.	Action	Register
69-1-10	New	V. 38, p. 84
69-3-8	Amended (T)	V. 39, p. 1186

AGENCY 71: BOARD OF REGENTS

Reg. No.	Action	Register
71-2-2	Amended	V. 38, p. 1405
71-2-3	Revoked	V. 38, p. 1406
71-5-11	Amended	V. 38, p. 1406
71-8-8	Amended	V. 38, p. 1407

AGENCY 74: BOARD OF ACCOUNTANCY

Reg. No.	Action	Register
74-1-3	Amended	V. 38, p. 1337

AGENCY 82: STATE CORPORATION COMMISSION

Reg. No.	Action	Register
82-4-1	Amended	V. 38, p. 875

82-4-2a	Amended	V. 38, p. 876
82-4-3a	Amended (T)	V. 39, p. 1188
82-4-3b	Amended	V. 38, p. 876
82-4-3c	Amended	V. 38, p. 877
82-4-3d	Amended	V. 38, p. 878
82-4-3f	Amended	V. 38, p. 879
82-4-3g	Amended	V. 38, p. 882
82-4-3h	Amended	V. 38, p. 885
82-4-3i	Amended	V. 38, p. 886
82-4-3j	Amended	V. 38, p. 888
82-4-3k	Amended	V. 38, p. 888
82-4-3l	Amended	V. 38, p. 889
82-4-3m	Amended	V. 38, p. 891
82-4-3n	Amended	V. 38, p. 891
82-4-3o	Amended	V. 38, p. 892
82-4-20	Amended	V. 38, p. 892
82-4-21	Amended	V. 38, p. 893
82-4-22	Amended	V. 38, p. 893
82-4-24a	Amended	V. 38, p. 893
82-4-27	Amended	V. 38, p. 893
82-4-30a	Amended	V. 38, p. 894
82-4-40	Revoked	V. 38, p. 894
82-4-42	Amended	V. 38, p. 894
82-4-44	Revoked	V. 38, p. 894
82-4-46	Revoked	V. 38, p. 894
82-4-48	Amended	V. 38, p. 894
82-4-48a	Revoked	V. 38, p. 895
82-4-50	Amended	V. 38, p. 895
82-4-51	Amended	V. 38, p. 895
82-4-53	Amended	V. 38, p. 895
82-4-56a	Amended	V. 38, p. 895
82-4-57	Amended	V. 38, p. 896
82-4-58d	Amended	V. 38, p. 896
82-4-63	Amended	V. 38, p. 896
82-4-65	Amended	V. 38, p. 896
82-4-66	Revoked	V. 38, p. 897
82-4-68	Amended	V. 38, p. 897
82-4-85	Amended	V. 38, p. 897
82-4-86	Revoked	V. 38, p. 898

AGENCY 86: REAL ESTATE COMMISSION

Reg. No.	Action	Register
86-1-10	Amended	V. 39, p. 54
86-1-11	Amended (T)	V. 38, p. 855
86-1-11	Amended	V. 39, p. 55
86-1-12	Amended	V. 39, p. 56
86-1-13	Revoked	V. 39, p. 56
86-1-16	Revoked	V. 39, p. 56
86-1-17	Amended	V. 39, p. 56
86-1-18	Revoked	V. 39, p. 56
86-3-6a	Revoked	V. 39, p. 56
86-3-7	Amended	V. 39, p. 56
86-3-20	Revoked	V. 39, p. 57

AGENCY 88: BOARD OF REGENTS

Reg. No.	Action	Register
88-10-1	Revoked	V. 39, p. 1270
88-10-2	Revoked	V. 39, p. 1270
88-10-3	Revoked	V. 39, p. 1270
88-10-4	Revoked	V. 39, p. 1270
88-10-5	Revoked	V. 39, p. 1270
88-10-6	Revoked	V. 39, p. 1270
88-10-7	Revoked	V. 39, p. 1270
88-10-8	Revoked	V. 39, p. 1270
88-10-10	Revoked	V. 39, p. 1270
88-10-12	Revoked	V. 39, p. 1270
88-11-1	Revoked	V. 39, p. 1270
88-11-2	Revoked	V. 39, p. 1270
88-11-3	Revoked	V. 39, p. 1270
88-11-4	Revoked	V. 39, p. 1270
88-11-5	Revoked	V. 39, p. 1270
88-11-6	Revoked	V. 39, p. 1270
88-11-7	Revoked	V. 39, p. 1270
88-11-8	Revoked	V. 39, p. 1270
88-11-9	Revoked	V. 39, p. 1270

88-11-11	Revoked	V. 39, p. 1270
88-11-12	Revoked	V. 39, p. 1270
88-25-1	New	V. 39, p. 748
88-25-2	New	V. 39, p. 748
88-25-3	New	V. 39, p. 748
88-25-4	New	V. 39, p. 748
88-25-5	New	V. 39, p. 748
88-28-6	Amended	V. 38, p. 1435
88-29-1	Revoked	V. 39, p. 1215
88-29-3	Amended	V. 39, p. 1215
88-29-11	Revoked	V. 39, p. 1216
88-29-12	Amended	V. 39, p. 1216
88-29-13	Amended	V. 39, p. 1216
88-29-14	Amended	V. 39, p. 1218
88-29-15	Amended	V. 39, p. 1218
88-29-16	Amended	V. 39, p. 1219
88-29-17	Amended	V. 39, p. 1220
88-29-18	Revoked	V. 39, p. 1221
88-29-19	Revoked	V. 39, p. 1221
88-29a-1	Amended	V. 39, p. 1221
88-29a-5	Amended	V. 39, p. 1223
88-29a-6	Amended	V. 39, p. 1223
88-29a-7	Amended	V. 39, p. 1223
88-29a-7a	Amended	V. 39, p. 1224
88-29a-9	Amended	V. 39, p. 1224
88-29a-10	Amended	V. 39, p. 1225
88-29a-11	Amended	V. 39, p. 1227
88-29a-18	Amended	V. 39, p. 1228
88-29a-19	Amended	V. 39, p. 1229
88-29b-1	Amended	V. 39, p. 1229
88-29b-3	Amended	V. 39, p. 1231
88-29b-5	Amended	V. 39, p. 1231
88-29b-6	Amended	V. 39, p. 1232
88-29b-7	Amended	V. 39, p. 1233
88-29b-7a	Amended	V. 39, p. 1234
88-29b-9	Amended	V. 39, p. 1234
88-29b-10	Amended	V. 39, p. 1235
88-29c-1	Amended	V. 39, p. 1236
88-29c-5	Amended	V. 39, p. 1238
88-29c-7	Amended	V. 39, p. 1238
88-29c-9	Amended	V. 39, p. 1238
88-29c-10	Amended	V. 39, p. 1239
88-29d-1	Amended	V. 39, p. 1240
88-29d-5	Amended	V. 39, p. 1241
88-29d-7	Amended	V. 39, p. 1242
88-29d-9	Amended	V. 39, p. 1242
88-29d-10	Amended	V. 39, p. 1243
88-30-1	Amended (T)	V. 39, p. 890
88-30-1	Amended	V. 39, p. 1269
88-30-2	Amended	V. 39, p. 1270

AGENCY 92: DEPARTMENT OF REVENUE

Reg. No.	Action	Register
92-19-56	Revoked	V. 38, p. 1470
92-56-2	Amended	V. 38, p. 1196

AGENCY 100: BOARD OF HEALING ARTS

Reg. No.	Action	Register
100-11-1	Amended	V. 38, p. 344
100-28a-14	Amended	V. 38, p. 184
100-28b-1	New	V. 38, p. 1490
100-28b-5	New	V. 38, p. 1491
100-28b-15	New	V. 38, p. 1491
100-28b-16	New	V. 38, p. 1491
100-28b-17	New	V. 38, p. 1491
100-28b-18	New	V. 38, p. 1491
100-29-4	Amended	V. 38, p. 1492
100-29-9	Amended	V. 38, p. 1492
100-69-7	Amended	V. 38, p. 1493
100-69-10	Amended	V. 38, p. 1494
100-76-2	Amended	V. 38, p. 184
100-77-1	New (T)	V. 38, p. 8
100-77-1	New	V. 38, p. 447
100-77-2	New (T)	V. 38, p. 8

100-77-2	New	V. 38, p. 448
100-77-3	New (T)	V. 38, p. 8
100-77-3	New	V. 38, p. 448
100-78-1	New (T)	V. 39, p. 250
100-78-1	New	V. 39, p. 570
100-78-2	New (T)	V. 39, p. 250
100-78-2	New	V. 39, p. 570

AGENCY 102: BEHAVIORAL SCIENCES REGULATORY BOARD

Reg. No.	Action	Register
102-1-13	Amended	V. 38, p. 185
102-1-18	Amended	V. 38, p. 212
102-2-3	Amended	V. 38, p. 185
102-2-14	Amended	V. 38, p. 212
102-3-2	Amended	V. 38, p. 185
102-3-15	Amended	V. 38, p. 212
102-4-2	Amended	V. 38, p. 186
102-4-15	Amended	V. 38, p. 212
102-5-2	Amended	V. 38, p. 186
102-5-14	Amended	V. 38, p. 212
102-7-2	Amended	V. 38, p. 186
102-7-12	Amended	V. 38, p. 212

AGENCY 105: BOARD OF INDIGENTS' DEFENSE SERVICES

Reg. No.	Action	Register
105-5-2	Amended	V. 39, p. 252
105-5-3	Amended	V. 39, p. 252
105-5-6	Amended	V. 39, p. 252
105-5-7	Amended	V. 39, p. 252
105-5-8	Amended	V. 39, p. 252
105-5-11	Revoked	V. 38, p. 368

AGENCY 109: BOARD OF EMERGENCY MEDICAL SERVICES

Reg. No.	Action	Register
109-3-3	Amended	V. 39, p. 30
109-3-4	Amended	V. 39, p. 31
109-5-1	Amended	V. 38, p. 153
109-5-1a	Amended	V. 39, p. 32
109-8-1	Amended	V. 38, p. 153
109-8-2	Amended	V. 38, p. 154
109-11-1a	Amended	V. 39, p. 32
109-11-6a	Amended	V. 38, p. 154

AGENCY 111: KANSAS LOTTERY

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 *Kansas Register*. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 *Kansas Register*. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 *Kansas Register*. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 *Kansas Register*. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 *Kansas Register*. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 *Kansas Register*. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 *Kansas Register*. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 *Kansas Register*. A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 *Kansas Register*. A list of regulations filed from 2018 through

2019, can be found in the Vol. 38, No. 52, December 26, 2019 Kansas Register.

Reg. No.	Action	Register
111-4-3595	New	V. 39, p. 57
111-4-3596	New	V. 39, p. 58
111-4-3597	New	V. 39, p. 59
111-4-3598	New	V. 39, p. 60
111-4-3599	New	V. 39, p. 61
111-4-3600	New	V. 39, p. 63
111-4-3601	New	V. 39, p. 532
111-4-3602	New	V. 39, p. 533
111-4-3603	New	V. 39, p. 570
111-4-3604	New	V. 39, p. 572
111-4-3605	New	V. 39, p. 573
111-4-3606	New	V. 39, p. 574
111-4-3607	New	V. 39, p. 576
111-4-3608	New	V. 39, p. 621
111-4-3609	New	V. 39, p. 623
111-4-3610	New	V. 39, p. 624
111-4-3611	New	V. 39, p. 854
111-4-3612	New	V. 39, p. 855
111-4-3613	New	V. 39, p. 856
111-4-3614	New	V. 39, p. 858
111-4-3615	New	V. 39, p. 859
111-4-3616	New	V. 39, p. 860
111-4-3617	New	V. 39, p. 861
111-4-3618	New	V. 39, p. 862
111-4-3619	New	V. 39, p. 862
111-4-3620	New	V. 39, p. 864
111-4-3621	New	V. 39, p. 865
111-4-3623	New	V. 39, p. 866
111-4-3624	New	V. 39, p. 891
111-4-3625	New	V. 39, p. 892
111-4-3626	New	V. 39, p. 893
111-4-3627	New	V. 39, p. 894
111-4-3628	New	V. 39, p. 896
111-4-3629	New	V. 39, p. 897
111-4-3630	New	V. 39, p. 900
111-4-3631	New	V. 39, p. 1076
111-4-3632	New	V. 39, p. 1077
111-4-3633	New	V. 39, p. 1109
111-4-3634	New	V. 39, p. 1109
111-4-3635	New	V. 39, p. 1110
111-4-3636	New	V. 39, p. 1111
111-4-3637	New	V. 39, p. 1113
111-4-3638	New	V. 39, p. 1114
111-5-245	New	V. 39, p. 577
111-9-223	New	V. 39, p. 625
111-9-224	New	V. 39, p. 867
111-15-1	Amended	V. 39, p. 1080
111-15-3	Amended	V. 39, p. 1080
111-15-4	Amended	V. 39, p. 1081

111-15-5	Amended	V. 39, p. 1081
111-15-6	Amended	V. 39, p. 1081
111-15-10	Amended	V. 39, p. 1082
111-19-72	Amended	V. 39, p. 64
111-19-73	New	V. 39, p. 64
111-19-74	New	V. 39, p. 65
111-19-75	New	V. 39, p. 65
111-19-76	New	V. 39, p. 74
111-19-77	New	V. 39, p. 578
111-19-78	New	V. 39, p. 579
111-19-79	New	V. 39, p. 580
111-19-80	New	V. 39, p. 626
111-19-81	New	V. 39, p. 626
111-19-82	New	V. 39, p. 868
111-19-83	New	V. 39, p. 868
111-19-84	New	V. 39, p. 868
111-19-85	New	V. 39, p. 869
111-19-86	New	V. 39, p. 870
111-19-87	New	V. 39, p. 901
111-19-88	New	V. 39, p. 901
111-19-89	New	V. 39, p. 1082
111-19-90	New	V. 39, p. 1115
111-19-91	New	V. 39, p. 1116
111-19-92	New	V. 39, p. 1116
111-301-4	Amended	V. 39, p. 534
111-301-5	Amended	V. 39, p. 534
111-301-6	Amended	V. 39, p. 535
111-301-43	Amended	V. 39, p. 537
111-301-60	Amended	V. 39, p. 66
111-301-62	Amended	V. 39, p. 67
111-301-64	Amended	V. 39, p. 538
111-301-66	Amended	V. 39, p. 538
111-302-4	Amended	V. 39, p. 68
111-302-5	Amended	V. 39, p. 1082
111-305-5	Amended	V. 39, p. 539
111-305-6	Amended	V. 39, p. 539
111-401-253	New	V. 39, p. 69
111-401-254	New	V. 39, p. 69
111-401-255	New	V. 39, p. 71
111-501-71	Amended	V. 39, p. 71
111-501-81	Amended	V. 39, p. 71
111-501-149	New	V. 39, p. 72
111-501-150	New	V. 39, p. 72
111-501-151	New	V. 39, p. 73
111-501-152	New	V. 39, p. 73
111-501-153	New	V. 39, p. 74
111-601-4	Amended	V. 39, p. 1117
111-601-6	Amended	V. 39, p. 1117

AGENCY 112: KANSAS RACING AND GAMING COMMISSION

Reg. No.	Action	Register
112-105-1	Amended	V. 39, p. 251

AGENCY 115: DEPARTMENT OF WILDLIFE, PARKS AND TOURISM

Reg. No.	Action	Register
115-2-1	Amended	V. 38, p. 1089
115-2-3	Amended	V. 38, p. 370
115-2-4	Amended	V. 38, p. 371
115-2-7	Revoked	V. 38, p. 1091
115-3-2	Amended	V. 38, p. 371
115-4-2	Amended	V. 39, p. 617
115-4-4	Amended	V. 39, p. 618
115-4-6	Amended	V. 39, p. 619
115-4-11	Amended	V. 38, p. 372
115-5-1	Amended	V. 39, p. 1103
115-5-2	Amended	V. 38, p. 542
115-5-3	Amended	V. 38, p. 1091
115-5-3a	New	V. 38, p. 1091
115-5-4	Amended	V. 38, p. 542
115-6-1	Amended	V. 39, p. 1103
115-7-1	Amended	V. 38, p. 1409
115-7-3	Amended	V. 38, p. 1410
115-7-4	Amended	V. 38, p. 1410
115-7-10	Amended	V. 38, p. 1411
115-8-1	Amended	V. 38, p. 543
115-8-13a	New	V. 38, p. 1169
115-9-5	Amended	V. 38, p. 375
115-9-9	Amended	V. 38, p. 1411
115-11-2	Amended	V. 38, p. 127
115-13-4	Amended	V. 38, p. 544
115-14-12	Amended	V. 39, p. 1271
115-14-13	Amended	V. 39, p. 1273
115-14-14	Amended	V. 39, p. 1275
115-15-1	Amended	V. 38, p. 1412
115-15-2	Amended	V. 38, p. 1413
115-18-6a	Amended	V. 38, p. 1414
115-20-7	Amended	V. 38, p. 545

AGENCY 128: DEPARTMENT OF COMMERCE—KANSAS ATHLETIC COMMISSION

Reg. No.	Action	Register
128-5-1	Amended	V. 38, p. 1197
128-6-8	New	V. 38, p. 1198

AGENCY 129: DEPARTMENT OF HEALTH AND ENVIRONMENT—DIVISION OF HEALTH CARE FINANCE

Reg. No.	Action	Register
129-9-9	New (T)	V. 39, p. 647
129-9-9	New	V. 39, p. 1019
129-10-31	Amended	V. 39, p. 800

**Kansas Register
Secretary of State
1st Floor, Memorial Hall
120 SW 10th Ave.
Topeka, KS 66612-1594**
